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Preface and Notation

This PDF document includes lecture notes for AMATH 353 - Partial Differential Equations 1 taught
by Francis J. Poulin in Winter 2019.

For any questions contact me at c2kent (at)uwaterloo(dot)ca.
Thanks to Zeqi Wang for notifying me of the typos.

Notation

Throughout the course and the notes, unless otherwise is explicitly stated, we adopt the following
conventions and notations.

The university logo is used as a place holder.
Chapter numbering follows the order in the official course notes.

Lectures are numbered according to the scheduling of classes. In order to be consistent with
the lecture numbers from the instructor’s notes, student should compare the notes with the
lecture date instead.

If an expression is said to be “= 0” then it means it is identically zero.
We use round brackets (+,-) to denote the inner product (instead of angular brackets).

We use £ (mathcal L) to denote the Sturm-Liouville operator in Notation 4.1.1 and use &
(curvy L) to denote the Laplace transform that we introduced in Definition 4.6.1.

Calvin KENT

v
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Lecture 1 Chapter 1. Modeling with PDEs 07 January 2019

Start of Lecture 1

Chapter 1 — Modeling with PDEs: Lectures 1-5

1.1 Introduction

Definition 1.1.1: A partial differential equation (PDE) is an equation that relates a function
of two or more variables with its partial derivatives. eg. If the variable is u(z,t) then the PDE is

of the form
ou Ou 9%*u 0%*u O%*u
Flz,t,bu,— —, —,——,—,... | =0.
Oz’ Ot’ 0z2’ dzdt’ Ot?
PDEs are often derived from conservation laws. q

For this course, in lectures we solve PDEs exactly and in tutorials we solve PDEs computationally.
Given a solution we need to interpret the results.
Remark 1.1.2: We define some general concepts as follows.

e A scalar PDE is a single PDE.

o A system of PDEs is two or more PDEs.

e The order of a PDE is set by the highest partial derivative. Most of the problems in this
course will be in first order or second order.

e To find a unique solution to a PDE where x is space t is time requires boundary conditions
and initial conditions.

e The vast majority of PDEs we consider are the ones where F' has a linear dependency. This
is said to be a linear PDE. Otherwise, we say the PDE is non-linear. N

1.2 Conservation Laws

In today’s lecture, we performed an experiment by adding a drop of green dye into a small bucket
of water. We observed how the dye spread in water due diffusion. How do we describe this in
mathematical sense? We know that

e there is no spontaneous generation of dye,

e if at a given location, the concentration of dye increases, this must be due to
— transport across space,
— adding extra dye.

Consider a narrow 3-D tube

Winter 2019 AMATH 353 1



Lecture 1 Chapter 1. Modeling with PDEs 07 January 2019

Figure 1.2.1: Narrow 3-D tube.

We choose container to be narrow so that the concentration only depends on z (space) and on ¢
(time). We define our variables as

(z,t): mass density of dye [kgm™?]

u
A(z) : cross sectional area [m?]

f(z,t,u) : the rate at which the dye is added [kgm™3s7!]
é(z,t,u) : flux (transport) of dye [kgm 25 !]

Now consider two points x = a and x = b.

e —— T ——— —————— - B
N= AN - \/7

Figure 1.2.2: 3-D tube with bounds = a and x = b.
Total mass in [a, ] is given by
b
/ u(x,t)A(x) de.

Rate of change of mass in [a, b] is given by

d rb B b du(z,t)
G u(a;,t)A(a;)d:c—/ 5 A(z) dz.

a

Total change of mass by the source is given by
b
/ flx, t,u)A(z) de.
Total change of mass by the flux (transport) is given by
b9
$(a.9A(@) ~ 60, H)A0) = - [ 2 (6.t wA () da.

Hence, from the above we obtain

Winter 2019 AMATH 353 2



Lecture 1 Chapter 1. Modeling with PDEs 07 January 2019

Net rate of change Net rate of change Net rate of change
of mass in [a, ] of mass in [a, b] by source of mass in [a, b] by flux.

This is referred as the conservation law.In mathematics, we express the conclusion we found above
as

b b b
((i:lt/ uAda::/ fAdx/ £(¢A)d$ (1.2.1)

Note that this is a global property.

End of Lecture 1

Winter 2019 AMATH 353 3



Lecture 2 Chapter 1. Modeling with PDEs 09 January 2019

Start of Lecture 2

Recall 1.2.1: In the previous lecture we found a mathematical expression for conversation law in
Equation 1.2.1. We want to combine the terms to make things simpler, we assume A is constant.

We obtain
b 9¢ ’Tou 9o
/—Ad:c—/fAdx—i—/a %Adx_0=>/a[a+8x }dx—o.

Hence, by contradiction, we deduce

du <b

E — f =0 (identically zero).

This is the conservation law in 1-D.This is a local property and is an example of a PDE. This PDE
cannot be solved without knowing f and ¢. N

1.2.1 Higher Dimensional Conservation Law

Figure 1.2.3: 3-D region.

We define
e u(x,t) : mass density [kgm>].

e f(x,t,u) : rate of mass added by source [kgm™>s7].
e ¢(x,t,u): flux [kgm 2s7!].

e 1 : unit outward normal.

Winter 2019 AMATH 353 4



Lecture 2 Chapter 1. Modeling with PDEs 09 January 2019

* Total mass is equivalent to /// udV.
1%

* Rate of change of mass in V' in time is equivalent to — /// udV = // —dV.

* Rate of change of mass by source is equivalent to // fdv.

* Rate of change of mass by flux is equivalent to — // ¢ -ndS =— // V.-¢dV.

Hence, the global conservation law becomes

(i/v//udV:/V/ de—géﬁqb-ﬁdS

Using both FTCs we obtain

// —av - //fdv+//v $dV =0
:///[Jrv ¢ — f}dV—O

True for any subvolume V. Hence, we deduce

% +V-¢p—f=0. (local quantitiy) (1.2.2)

End of Lecture 2

Winter 2019 AMATH 353 5



Lecture 3 Chapter 1. Modeling with PDEs 11 January 2019

Start of Lecture 3

Recall 1.2.2: For n—dimensions we have the conservation law as % +V-¢p—f=0. So, in 1-D

we have 5 96
U
E—i_% — f=0. (1.2.3<)]

1.3 Constitutive Relations

Definition 1.3.1: In general we must specify gi)(x, t,u, %Z’ %—?, .. ) = 0. We denote this algebraic

relation as the personality of the equation. We need to make observations to find reasonable

Q’s. N

We will now drive and define some PDEs from the conservation law. For higher dimensions we will
refer to Equation 1.2.2 and for 1-D we will refer to Equation 1.2.3.

1.3.1 Diffusion Equation

We assume the conservation law holds. Moreover, we assume
(1) n =1, so we are in 1-D.
ou 0¢

(2) No sources or sinks, so f = 0. In this case our conservation law becomes — + —— = 0.

ot ox

(3) Fick’s Law: Diffusion is proportional to the gradient of density it is down gradient. Fick’s
law assumes that
ou B length?

o(x,t) = —Da—(x, t) where D is the diffusion constant with units [D] =
e T

time

We sub in our assumptions into (1.2.3) and obtain

2
({E);EL = _gcb = D?)Z (Diffusion Equation)
T X

Remark 1.3.2: If density has a length scale of L then what is the time scale of diffusion?
D is the diffusion coefficient with units [D] = %2 Hence T' = %. Which gives the intuition for the

fact that large features diffuse more slowly. Large D has faster time scales. We will confirm this
later on the course. <

1.3.2 Reaction-Diffusion Equation

We assume the conservation law holds. Moreover, we assume

(1) n =1, so we are in 1-D.

Winter 2019 AMATH 353 6



Lecture 3 Chapter 1. Modeling with PDEs 11 January 2019

(2) Fick’s law: ¢ = —D@.
ox

(3) Sources are present, so f # 0.

This is same as Diffusion Equation except we have f = 0. Hence we obtain

ou 0%u . s .
T DW + f. (Reaction-Diffusion Equation)

1.3.3 Fisher’s Equation

We have two choices for reactions:

ru exponential growth

f= Tu(l — %) logistic growth

We sub logistic growth into Reaction-Diffusion Equation and obtain Fisher’s equation as

ou 9%u U
T D@ + ru(l — ?) where

r : growth rate ] )
, ] (Fisher’s Equation)
K : carrying capacity

1.3.4 Advection (Transport) Equation

We assume the conservation law holds. Moreover, we assume

(1) n =1, so we are in 1-D.

(2) No sources, so f = 0.

(3) Flux is proportional to concentration, so ¢ = cu where c is constant and has units of speed.
We sub this into (1.2.3) and get %1; + (%(cu) — 0 =0. Hence we obtain

0 0
a—? + ca—u =0 (Linear Advection (Transport) Equation)
T

This describes the transport of solution at speed c.

1.3.5 Burger’s Equation

We assume the conservation law holds. Moreover, we assume
(1) n =1, so we are in 1-D.
(2) No sources, so f = 0.

Winter 2019 AMATH 353 7



Lecture 3 Chapter 1. Modeling with PDEs 11 January 2019

(3) Flux obeys the Fick’s law and has a component that’s proportional to concentration, that is

ou

So, flux has properties of combination of Fick’s law and advection.

We sub in our assumptions into (1.2.3) and obtain

ou 0 ou

ou 0Q 0%u

9% _ptl

ot T or 02
A particular choice for Q(u) is Q(u) = %uQ. After subbing this in we obtain the Burger’s equation
as

After rearranging we obtain

ou ou 0%u

—+tu— =D—. (Burger’s Equation)
2

ot ox ox

non-linear advection diffusion

For the case where D = 0, we obtain the inviscid Burger’s equation

0 d
6—1: + u£ =0. (inviscid Burger’s equation)

1.3.6 Diffusion Equation in 3-D

We assume the conservation law holds. Moreover, we assume
(1) n =3, so we are in 3-D.
(2) No sources, so f = 0.
(3) Fick’s law (in 3-D): ¢ = —DVu.

We sub this into (1.2.2) and obtain

ou
o V- (=DVu) = 0.

Remark 1.3.3: We denote the divergence of the gradient as
V-V=Vi= —+ <+ . (Laplacian)

Older books might also use the notation V2 = A. N

Winter 2019 AMATH 353 8



Lecture 3 Chapter 1. Modeling with PDEs 11 January 2019

Hence, our equation becomes

0
871: = DVZu (diffusion equation in 3-D)

If we want a steady solution to this equation we assume u(x) satisfies

V2u = 0. (Laplace’s equation)

End of Lecture 3

Winter 2019 AMATH 353 9



Lecture 4 Chapter 1. Modeling with PDEs 14 January 2019

Start of Lecture 4

Remark: We start the lecture by watching a short segment of a video featuring bowed violin string
in slow motion: https://www.youtube.com/watch?v=6JeyiMOYNo4

Note that in this experiment the string eventually stops due to drag (air resistance). N

1.4 Wave Equation

We can use other tools to derive PDEs eg. (Newton’s 2™ law). Motion of particle yields an ODE.
Motion of string (continuum) yields a PDE. Newton’s 2°¢ law can be rewritten as F = ma.

Ts TN |

_/'7\(’ Te sy

Figure 1.4.1: Vibrating string.

We define,

p(x) : mass density [kgm™3].
A cross sectional area [m?| (constant).
T : string tension (F/A) [Nm™2?|.

u(zx,t) : vertical displacement from rest.

We assume that motion is purely vertical and slope % is small. We need to know
2

0
(1) Acceleration: au

92 (vertical)

(2) Mass: p(x)A(2Az) (mass of subinterval)
(3) Sum of forces; described in Figure 1.4.2 below.

Winter 2019 AMATH 353 10
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o
‘ \ o\ M | .
fw»/,m()O(m/l""//?\ T(aba b)ginblowsn)
Y%
A
| Q/Lne(f LA
S ES(A 4 U
L_;' ‘ /’/ ) y k
(:-“ K‘)f\ ‘5 . \
) AeAn

Figure 1.4.2: Sum of forces on a vibrating string.

Note that in here the two tensions are parallel and they face opposite directions. We define the
tension (7') as force divided by the area (F/A). We have the total forces in vertical as

F = AT(x + Ax,t)sinf(x + Az, t) — AT (x — Az, t)sinf(z — Az, t) — p(x) A282Q(x, t),
where Q(z,t) is the acceleration due to gravity. We sub this into the Newton’s 2°¢ law. We obtain

2
[p(x)A2Ax] gtg = AT (x+Ax,t)sin0(x+ Ax,t) — AT (x — Az, t) sin §(z — Ax, t) — p(x) A2AzQ(x, t).
We divide the above equation by 2Axz A and take the limit as Az — 0. We have
0%u T(x+ Az, t)sinf(x + Az, t) — T(x — Az, t)sin(z — Az, t)
el B
) G = A, 28z A

Hence we obtain

- p(m)Q(x,t).

2U
(@) 9 = [T, ) sin B, 1) — pla) Qe 1)

Note that p,T" and @) must be specified. We now need to find 6 in terms of u. From geometry we

__ sinf __ du
have tan§ = == = 3. Hence, we get
/'~ v
/v\‘ﬂ‘\f Ay & (=27
/ \ O ‘I U . -~ - S LR =
/ \ ¥ / — —_ S\ ¢ \(& — —
) \ //,/ 2y " ’(\) A \‘ P
= iy \ { & | — |
/'\ g_/ \ 0 \
A A

Figure 1.4.3: Trigonometric identities.

So we can write
ou

Oz

sinf = 72
L+ (5)

Winter 2019 AMATH 353 11



Lecture 4 Chapter 1. Modeling with PDEs 14 January 2019

We obtain a closed PDE of the form

2 Ou
P% = g T(z,t) or 3
€T 1+ (8u)

We assume p, T are constant with slopes being small and we neglect gravity. So % < 1. Then

1+ (%)2 ~ 1. We divide the above expression by p and obtain

Pu T
o2 pox?’

. 2 . .
Since [%} = ?—2, we denote ¢? = % and obtain the wave equation as
€

2 2
% = 02% (Wave Equation)

Note the comparison of wave equation with the Diffusion Equation in 1-D. The difference of 1st and
2nd derivatives yields completely different solutions.

End of Lecture 4

Winter 2019 AMATH 353 12



Lecture 5 Chapter 1. Modeling with PDEs 16 January 2019

Start of Lecture 5

1.4.1 Boundary Conditions

To find unique solutions to PDEs we must impose boundary conditions (BCs) and initial conditions
(ICs) that describe the physical state of the ends. The number is set by the order of time derivative.

1.4.1.1 Dirichlet

e.g. String is clamped.

w(0,t) =0 and wu(L,t)=0. (Homogeneous)
e.g. String moving up and down.
u(0,t) = f(t). (Inhomogeneous)
1.4.1.2 Neumann
e.g. Insulated boundaries
0
8%(0’ t) =0. (Homogeneous)

1.4.1.3 Mixed/Robin

A mixed or Robin boundary condition is of the form,

agl;(o, t) + bu(0,t) = 0. (Homogeneous)

1.4.1.4 Periodic

Periodic boundary conditions. That is to say the solution is equal at the left and right ends of the
domain.
u(0,1) = u(L,t)
ou ou

%(O,t) = %(L,t).

Winter 2019 AMATH 353 13



Lecture 5 Chapter 1. Modeling with PDEs 16 January 2019

1.5 Vibrating Membrane

)\
QJQ ’ . 3 Z
Q" \
b / 9
¢

Qo.ka N e Cj‘ . Cf\g-\'\b&ba\;_

Figure 1.5.1: Visualization of a vibrating drum.

We define,

u(zx,y,t) : vertical displacement [m]

p(z,y

~— ~—

: mass density [kgm™?]

o>

: unit tangent vector

: unit normal vector to surface (upwards)

=33

Fr : tensile (line) force, tangent to membrane[N m 2]

We assume that

@ wu(z,y,t) < 1.

ou Ou

oy <1 (small slopes).

(3) Motion is purely vertical
(4) Tension is constant in magnitude, that is |[Fr| = Tp.

From physics, the force is given by
FT = TQE X 1.

Hence, the vertical component of the force is given by

~

k-Fr =Tyt xn)- k.

Recall Newton’s 2" law states F = ma. We have the acceleration at a point as g%*. To find ma
for a patch, we must find this at a point and integrate over area A. We have

0%u
ma:/ PO@ dA.
A

Winter 2019 AMATH 353 14



Lecture 5 Chapter 1. Modeling with PDEs 16 January 2019

Next, we look at the sum at the force over the perimeter. Recall the identity (£ x ) -k = (A x k) - .
We sub this into our equation for the vertical component of the force and obtain

k-Fr =Tyt xn) -k="Tyh x k) -t.

We must integrate the force over the perimeter to find the net force on the patch.

Newton’s 2" law yields

2
/ pogT;‘ dA = §£T0(£ x 1) - kds.
A

0A
This is also known as the global version of Newton’s law.

Recall 1.5.1 (Stokes’ Theorem): As a consequence of Stokes’ theorem we can write
%F-fds://(VxF)-ﬁdA. <
0A A

So, by Stokes theorem we rewrite line integrals as a double integral and get

§£To(ﬁ x k) - //To [V x (A x k)] - AdA.

0A

If we sub into Newton’s 2" law and combine the two integrals we get

//[maﬁ_ (ﬁXR)]-ﬁ]dA:o.

Since this is true for any A, we deduce
0? .
poa—t’;‘ — Tp(V x (i x k)) - &. (1.5.1)

This is another version of the wave equation. To get a simple PDE, we rewrite i in terms of wu.
Recall if the surface is z = u(z,y) and if we have small slopes, then we can find the unit normal as

(£-21) (&-3) SEN
[Co-0l o ger @)

ox’ Oy’

We also have

i i k
i x k = |-G -3 1 —(—2“,—2“,0),
0o 0 1 yooor
i ] ok 2 a2
N 0y  0°u
viaxk=| &g o= (0055400,
_% _% BOZ ox2 = 0y?
ox oy

Winter 2019 AMATH 353 15
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16 January 2019

Hence we have

ey . OPu D%
where H subscript denotes horizontal. We sub this in to (1.5.1) and obtain
0*u
poﬁ == Tov%{u

We let c? = To/po and obtain the 2D wave equation as
€

Pu 4 g o Pu  0u

(2D wave equation)

End of Lecture

5

Winter 2019 AMATH 353
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Lecture 6 Chapter 2. Classification of 2"*-Order PDEs 18 January 2019

Start of Lecture 6

Chapter 2 — Classification of 2"4-Order PDEs: Lectures

67
Recall we previously we found the Diffusion Equation, Wave Equation and the Laplace’s Equation
as
Ou _ 0 (Diffusion Equation)
— =D— iffusion Equation
ot 02 4
0? 0?
a—tg = 028—;; (Wave Equation)
0? 0?
87:1:2; + 87;; =0 (Laplace’s Equation)

We will classify PDEs in 3 types: parabolic, hyperbolic, elliptic.

2.1 General 2"-Order Linear PDEs

The most general 2"d-order linear PDE that we can write down is,

0*U 0*U 0*U oU oU
2B D—+F—+FU=0dG.
Ox? + 0xdy +08y2 + Ox + oy HEU=G

We must specify A, B,C, D, E, F,G that is our PDE. To classify, we focus on 2"4-order terms

02U 02U 02U 0 \?2 B, B o0\?
A 2B —Al = oB( — | = Z\ U
ou2 "B 5u0y T o <am> v (ax>(ay>“0<ay> v

This is a quadratic form in terms of % and a%. Compare this with
Az? + 2Bzy + Cy? = 0.

We can use quadratic equation to find the roots as follows:

. —2B+AB2—4AC -B+VB2-AC
w = = .
2 A

Since there are 3 classifications of quadratic forms based on the sign of the discriminant, then there

are 3 classes of PDEs.

A > 0 hyperbolic
B? — AC = { A =0 parabolic
A < 0 elliptic

Winter 2019 AMATH 353
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Example 2.1.1 (Wave Equation): Take y =¢. We get

2 2
29u 0w
or? 0y

So we have A = ¢?, B = 0,C = —1. Since we have B2 — AC = 0 — ¢*(—1) = ¢ > 0 then the wave
equation is hyperbolic. <

Example 2.1.2 (Diffusion Equation): We have

9%u

D—.
0z?

In this case we have A = D and B = 0 = C. So B> — AC = 0. Hence the diffusion equation is
parabolic. N

Example 2.1.3 (Laplace’s Equation): We have

Pu, P
ox? oy

So we have A = 1, B = 0,C = 1, which gives us B2 — AC = 0—1(1) = —1 < 0. Hence the Laplace’s
equation is elliptic. N

2.2 Reduction to Standard Form

2.2.1 Wave Equation

The wave equation can be written as

Pu ,0%

oz oz TV
2, 02
(aﬁ‘caxz>“:0-

We are going to factor differential operators as if they are are algebraic terms. We have
9 c2 9 + cg u=20
ot ox)\ot ox)

This equation (which resembles to advection) is hard to solve. So we will rewrite the equation for
x,t to (,n to reduce the equation to a simpler form we can solve. Define

¢+
=2 —ct —
(=x—ct|x >
n=x+ct y:n_C

2c
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We define the variables ( and 7 as characteristic variables. By change of variables we have

" T 9 " ocoxr "acoi  20¢ 2coi | 2e|lot Cox)"
0 Ou OJxdu Otdu 10u 18u_1<8 8>u

0 Ou Ordu 0Otdu 10u 1 Ou 1[(’9 6}

' "oy onor opot 20z 2c01 2

—202— g—cg and 202— g+02
S \ot oz on  \ot ox)

Hence, we get the wave equation as
0
<20> u=20
on

D ONV2 Y = (22
ot ‘oz )\ot " oz )" ac
0 (wave equation in characteristic form)

ot ou

Hence we get

We integrate this w.r.t . We get

We now integrate w.r.t ¢ and get

u(¢,n) = a(¢) + B(n).

We rewrite in terms of # and ¢ and obtain

u(z,t) = alx — ct) + B(x + ct) (d’Alembert’s Solution)

QUESTION: What if we want to impose ICs? Consider the ICs

Ou

u(z,0) = f(x) and y

(x,0) = g(x). (2.2.1)
We plug in the solution into first IC. We get
u(z,0) = a(z) + f(z) = f(z).

Similarly for second IC, we get

ou

5 (#.0) = —ca/(x) + ¢ (x) = g(a).

End of Lecture 6
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Start of Lecture 7

Wave Equation (continued)

Recall that last lecture when we imposed the ICs given in (2.2.1) on d’Alembert’s solution and
obtained

0
55030):41n%x)+05%x):g¢w. (2.2.2)
We divide this expression by ¢ and integrate to obtain
1 xX
—a(z) + f(x) = c/ g(s),ds. (2.2.3)
0

We add (2.2.2) with (2.2.3) and sub (2.2.2) in (2.2.3) to obtain

We sub this into d’Alembert’s solution and obtain

1 1

T—ct T+c
u(:c,t):;f(x—ct)—Q/O g(s)ds+;f(a;+c)+2/0 g(s)ds.

In summary, we get

x+ct
u@@zéﬁ@—dﬂ%@+dﬂ+%/) g(s) ds.

—ct

2.3 Formulation of IVPs and BVPs

Definition 2.3.1: If a problem
(1) has a solution,
(2) the solution is unique and,
(3) the solution depends continuously on ICs and BCs.

then we say the problem is a well-posed problem. Otherwise, we say the problem is an ill-posed
problem. N

Example 2.3.2: An example of an ill-posed problem is

2 2
(PDE) g;g—i—g;;:() where —oo<x <00,y >0,
B ou _ sin(nz)
(BCs)  u(x,0) =0 and %(:1:,0) =—0"
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The solution is

sinh(nx) sinh(n)

u(z,y) = 2

n
CASE 1: In the limit as n — oo, the only solution to the PDE and the BCs is u(x,y) = 0.

ez—e’z)

CASE 2: Limit at the solution n — oo is u(x,y) — oo (since sinhx =

Since small variations in BCs yield huge changes in solution then the problem is ill-posed. N

Chapter 4 — IBVPs in Bounded Domains: Lectures 7-27

4.1 Introduction

4.1.1 Governing Equations (PDEs)
Recall we obtain the n-dimensional conservation law in (1.2.2). We now consider it in the form

p(x)gz:-l—v-(b:f. (4.1.1)

Here we have added p(x) to generalize the conservation law slightly. We assume the following:
(1) Fick’s law: ¢ = —p(x)Vu.
(2) Newton’s law of cooling: f = —q(x)u + p(x)F.

We sub our assumptions into (4.1.1) and obtain

p0) P~ - (p(x)V) = ~qx)u+ p(x)F
Which gives us
P00 P~ - (p(x) V) + 4(x)u = p(x)

In 1-D we have

ou 0 ou
— - — — = F.
o) = 5 (P52 ) + alohu = sl
Notation 4.1.1: We define the operator £ as
£t = - 5 ()52 ) + ato (1)
or = -V - (p(x)Vu) + q(x)u. (n-dim)
We will show this operator satisfies the eigenvalue relations. N

By using this notation, our PDE becomes
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ou
— + L[u] = pF.

Py TLU =p

Example 4.1.2: In 1-D, pick p(z) = 1,p(z) = D,q(z) = 0,F(x) = 0. We get the diffusion
equation,

2

g:; - Dg;; = 0. (Diffusion Equation)

In 2D, pick p(x) = 0,p(x) = 1,q(x) =0, F(x) = 0. We get
Vu =0,
which is the Laplace’s equation. <
4.1.2 Boundary Conditions
General BCs we impose 3D are
a(x)u|  + B(x) Ou) - _ B(x,t).
v I |gy

0
Remark 4.1.3: We define LY Vu as the exterior normal derivative on the boundary.

on

If B = 0 then we have a Dirichlet BC.
If @ = 0 then we have a Neumann BC.

In 1-D this becomes (for z = 0 and = = L)

alu(oa t) - B gu

152(0,6) = B(t),

agu(L,t) + 5QgZ(L,t) = Ba(t).

It is similar in higher dimensions. N

End of Lecture 7
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Start of Lecture 8

4.2 Separation of Variables

Hyperbolic case: We use the same £ operator as before, which we defined in (4.1.1), we get

2
p(x)ztg + L[u] = pF. (Hyperbolic PDE)

B
aw@ﬂ—&%@ﬁz&

)
asu(L, 1) + B28—Z(L,t) —0.

U(ZL‘, O) = f(iL‘),
ou ICs

S ,0) = g(a).

BCs

SPECIAL CASE: When we have p(z) = 1, p(z) = ¢?,q(x) = 0 and F = 0 we get

Pu  ,0%

52 € a2 = 0. (Wave Equation)

Parabolic case: The PDE from last lecture was parabolic. We use the £ same operator which
defined in (4.1.1). We had

p(a:)({;: + Llu] = pF. (Parabolic PDE)
s,
aw@@—mimﬁza

S BCs

asu(L,t) + 528?(11, t)=0.
u(z,0) = f(z). }IC

SPECIAL CASE: When we have p(x) = 1,p(z) = D, q(z) =0 and F =0 we get

ou D82u

o Doz = 0. (Diffusion Equation)

Elliptic case: We use the same £ operator as before, we get
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0*u -
—p(x) == + Llu] = pF, (Elliptic PDE)
y?
ou
alu(()? y) - 51%(05 y) =0,

ou
a2u(L>y) + BQ%(Lvy) =0.

BCs

We need two conditions (“ICs”) in the y direction.

SPECIAL CASE: When we have p(z) = 1,p(z) = 1,¢(z) = 0 and F = 0 we get

0? 0?
873:1; + 87;; =0. (Laplace’s Equation)

4.2.1 Separating the Variables

For the hyperbolic problem, assume the solution u(x,t) can be written as a product of a function
of space and a function of time in the following way,

u(z,t) = M(xz)N(t).

(1) We sub into the (homogeneous) PDE in (Hyperbolic PDE) (so F = 0)

0%u
32
[MN] + L[MN] =0

P o
pMN" + NL[M] =0

(2) We divide the expression by pM N and move 2°¢ terms to RHS
N _ _LM)
N  pM

(3) Since the LHS is a function of time and the RHS is a function of space and they are equal,
then the functional dependencies must cancel out, so we must have a constant. We denote
this constant as — A,

N"  LIM] )
N  pM
(4) This gives us two ODEs,
N"4+ AN =0
L[M] = \pM.
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Which gives us

-2 <p(x)cg‘f) +q(w)M = ApM.

We divide by p and we get

1

Here we refer to A\ as an eigenvalue and M as an eigenfunction. Note that we have

e = ;[-iﬁ <p‘§‘f> " q(x)M},

so here L is a linear differential operator.

Parabolic Case: p% + L[u] = 0. Following the same steps as before, we get almost the same
thing.

Elliptic Case: — p% + L[u] = 0. Following the same steps as before, we get

_NT LM

——— == N" — AN =
N oM == 0

= L[M] = \pM.

In three cases the ODE for M is identical. Note that we can also separate the boundary conditions

u(z,t) = M(xz)N(t). We have

alu(O, t) — ,81 gZ(O, t)

a1 M(0)N — B M'(0)N
[a1 M (0) — B1M'(0)|N

0
0
0

In order to get non-trivial solutions, we require

1M (0) — B1M'(0)
a1 M(L) + BoaM'(L)
L[M]

Boundary Value Problem

0,

0, :
(Eigenvalue Problem)

ApM.

SPECIAL CASE: When we have 51 = 0= 83 = 0,p(z) = 1,p(x) = 1,q(x) = 0 we get

2
M = \M an example

T da2
M(0) = 0 = M[L], of a BVP
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In order to get a non-trivial solution, we have three cases to consider.

(1) A =0, so the solutions are M = a + bz,

BC1:M(0)=a=0 M0
BC2: M(L)=bL=0 = b=0["

(2) X\ <0, so the solutions are M = asinh(x/xx) + bcosh(ﬁb),

BC1:M(0)=b=0

M =0,
BC 2: M(L) = asinh(x/—)\L) —0 = a=0

(3) A > 0... (this will be completed)

End of Lecture 8
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Start of Lecture 9

4.2.2 Self-Adjoint Operators

In the 3 different cases of PDEs and BCs we found the same boundary value problem (BVP) which

is in the form

L[M] = XpM, ODE

BVP a1 M(0) — B1M'(0) =0 BC1,
a1 M(L) + BoM'(L) =0 BC2.
The 2°4 ODE depends on the particular case
N"+ AN =0 (hyperbolic)
N +AN =0 (parabolic)
N"— AN =0 (elliptic)
SPECIAL CASE: For the case p=1,p =1,q = 0 we have
2
— (117]\;[ = \M, Last time we showed that
€T .
BVP M(0) = 0, if A <0 we only have
M(L) =0, the trivial solution
If A > 0 the general solution of 2"4 order ODE is
M=c sin(ﬁx) + co cos(ﬁx).
When we impose the boundary conditions we get
BCl:  M(0)=c2=0.
BC2:  M(L) = ¢ sin(\/YL) ~0.
To get non-trivial solutions, we need ¢; # 0 and VAL = /A, 'L = nm where n = 1,.... Hence we
deduce )
nm
= (T)
where ), are the eigenvalues of the system. The corresponding eigenfunction is
M, = sin($>.
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Figure 4.2.1: Eigenfunctions for n = 1,2, 3.

Note that in general, the general eigenfunction is in the form

M, = c; sin(n—zx).

4.2.3 Properties of BVPs in General

Definition 4.2.1: The inner product of functions f(x), g(z) with weight p(x) > 0 is

def

L
(f.9) = /0 o) f(2)g(x) de.

Recall that weight of a function, p(z), is the term that appears in front of the term with the
time derivative. Here the functions f, g are well-defined (and p(z) > 0 )in the interval (0,L). In

3-dimensions, we have
(19) o, [ praav. a
1%

Remark 4.2.2: So, f, g are orthogonal with respect to the weight function p(x) if (f,¢g) =0. <

Definition 4.2.3: The norm of functions with respect to the inner product of functions is

L
=101 = .0 = [ o)) a. >
Definition 4.2.4: An operator £ is said to be self-adjoint if
(w, L[u]) = (L[w], w). <
Example 4.2.5: We want to show that the operator %E we defined in Notation 4.1.1 is self-adjoint.

Recall that we have q

et =3 (s ) + au
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We have

(v 2el) = (Setolu) = | Cpu (Y 4 qu) - / ’ 2 (o) + qu)uds

L
= / —w(pu') + quw + u(pw')’ — quw dx
0
L
= / —(pwu') + pu'w’ + (puw”) — pu'w’ dx
0

Ld
/ /
= — —_ — d
/0 e (pwu’ — puw’) dx
L

. —;

0

aru(0) = Bu'(0), 2 aaw(0) = Biw'(0),
asu(L) = —Bou’ (L), asw(L) = —Bow’ (L),

<w, 1C[u]> — <1E[w],u) =— [p(—&u/w' + 52u'w’>] + [p(ﬁlwlu' — ﬁlu'w’)]
P p Qa2 Q2 =L aq aq 2=0

=0.

Assuming we have the boundary conditions we get

Hence (w, %E[u]) = (lﬁ[w],u) Hence %[, is self-adjoint with BCs. N

End of Lecture 9
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Start of Lecture 10

4.2.4 Positivity of the £ Operator

Definition 4.2.6: An operator T is said to be positive if
(u, Tu]) > 0. q

Proposition 4.2.7: The operator %E is positive.

1 Lol d / du
(3= [ il o]
L rdu)\? 9 dul®
- o) v oan o]

Since by boundary conditions we have

a1u(0) = f1u'(0) and  agu(L) = —Fau'(L).
Hence we get

1 Lo rdu\? 9 Bo [ du 2 61 (du 2
(we) = [} o) +otans | 20(5) Lj[mp<dx>

Since p > 0,q > 0 and since a1, o, 81, B2 > 0 then we have

<u, ;z[uo >0

as required. O

Proof: We have

4.3 Eigenfunction Expansions

4.3.1 Orthogonality of Eigenfunctions

Recall the operator %E is self-adjoint, i.e.

1 1
<w, E[u}) - (C[w],u) =0.
p p
So, if we pick u = M}, and w = M, where M;, M}, are eigenfunctions, then we have
1 1
<Mja quko - (pﬁ[Mj],Mk> = 0.
Since M;, M}, are eigenfunctions, then they must satisfy the eigenvalue relation, that is
1
;E[Mk] = A\ M.

Hence we have

(Mj,)\kMk) — ()\ij, Mk) =0 = (/\k — )\j)(Mj,Mk) =0.
Hence, if Ay, — Aj # 0, then (M;, M) = 0. In other words, eigenfunctions corresponding to distinct
eigenvalues are orthogonal.
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Eigenvalues are Non-negative

Since %E is positive, then
1
(Mk, quQ >0,
p

Hence,
(M, AMy) >0 = A\p(My, M) = M| My ||* > 0.

Since the eigenfunctions are non-trivial (non-zero), then ||Mjy||* > 0. Hence
Ar > 0.

Hence, all eigenvalues of £ operator with BCs are non-negative.

Recall the 3 different cases and their solutions which we considered

Hyperbolic:  Nj + MNg =0 Ny = ay, COS( Ak t) + by sin( Ak t)?

which has

Parabolic: N + AN =0 i Nk = ag exp(—Axt),
L ” the solution
Elliptic: N = AN =0 N, = ai cosh( A t) + by, sinh( AL t).

Remark 4.3.1: We use the separation of variables which we assumed u(x,t) = M (z)N(t). In each
case, the following is a solution
up(z,t) = Mg(z)Nk(t).

This solves the PDEs and BCs but in general this does not satisfy the ICs. Even though uy is as
solution, we need a general solution for all ICs. By linear superposition, since PDEs and BCs are
linear and homogeneous, then the sum of two solutions is still a solution. The most general solution
is a superposition over all the eigenfunctions, which is of the form

u(,t) =Y up(z,t) =Y My(2)Ny(t). <
k=1 k=1

Hyperbolic Case: Consider the initial conditions

ou
u(z,0) = f(x) and a(w,@) = g(x).

We have

u(x,t) = i My (x) [ak COS( Ak t) + b sin< Ak t)}
k=1

We need to find ag, by that satisfy the given ICs. For first IC, we have

u(z,0) = > apMy(z) = f(z).
k=1
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For the second IC we get
0) = > VA axMy(x) = g(a).
k=1

These equations are called generalized Fourier series for functions f(z),g(z) and the constants
ag, b determine the generalized Fourier coefficients.

To determine ay, b, we project onto M;. We have

<Z ag My, M ) Zak My, Mj) = CLJ(M Mj) =a; = (|‘|];;4]WH]2)
J

Similarly,

(9, M;)

by = ——~D 0
TN (M, M)

Note that for the case where || M| =1 and || M;|| = 1 we get

ajp = (f, Mj) and bk =

End of Lecture 10
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Start of Lecture 11

Remark: We start the lecture by watching a short segment of a video featuring a vibrating string.
This allows us to see the behavior of Eigenfunctions on a spring: https://www.youtube.com/watch?v=
BSIw5SgUirg <

Recall 4.3.2: In the 3 cases (hyperbolic, parabolic and elliptic), we have

LIM] = \pM, ODE
BVP { a1 M(0) — B M'(0) =0 BC1,
OélM(L) + ,BQM,(L) =0 BC2.

If p>0,g>0,p>0and aj,as,B1,52 > 0 then %E is a positive operator and only has positive
eigenvalues (non-negative). <

Parabolic Case: N], + A\, N,, = 0. The solution is NV,, = ane *nt. The general solution is
o0
u(x,t) = ZMnan(x)e_)‘"t with IC u(z,0) = f(x).
n=1
We evaluate the solution at ¢t = 0. We have
o0
u(z,0) = ZanMn(x) = f(=).
n=1

We project on M;(z), we get

(f, Mj) = (Z anMn,Mj> = Za”(M"’Mj) = aj(ijMj)'

n=1 n=1

Hence, we have

(fa MJ)

aj = :
T (M, M)

SPECIAL CASE: Consider the diffusion equation with

u 2U
?)t - Dgxz, (PDE)
u(0,t) = 0 = u(L,1), (BCs)
u(z,0) = f(z). (IC)

(1) Separate variables: u(z,t) = M(x)N(t).

() Sub into PDE.
MN' = DM"N.

(b) Divide by DMN.
N/ M//

DN - -

Winter 2019 AMATH 353 33


https://www.youtube.com/watch?v=BSIw5SgUirg
https://www.youtube.com/watch?v=BSIw5SgUirg

Lecture 11 Chapter 4. IBVPs in Bounded Domains 30 January 2019

(© Obtain the ODEs for M and N.

M" +AM =0,
N" 4+ ADN = 0.

(@) Separate the BCs and combine with the obtained ODEs.

w(0,t) = M(O)N =0 = M(0) = 0.
0.

w(L,t) = M(L)N =0 = M(L)

We get
M" +XM =0 with M(0)=0= M(L).

From before, the only case that yields non-trivial solutions is A > 0.

Aside: Suppose, for contradiction, A < 0. We have

M = acosh(x/—)\x) +bsinh( —)\x>
BC1: M(0) =a=0.
BC2: M(L) = bsinh(\/—/\ L) =0.
If BC2 is zero, then either b = 0 or sinh(\/—)\ L). If we are looking for non-trivial
solutions, then b # 0. Then, sinh(v/=A'L) = 0. This is only true if L =0 or v—=X"= 0.

Since L # 0 then vv—XA = 0. Then A = 0. This is a contradicts with the assumption
that A < 0. <

(2) Since A > 0, then the solution to BVP is
M = acos(\/rz) + bsin(x/rzn).

Hence we get

Hence,

VAL =nm  where n=12...

= ()

M, = sin(n%).
(3) For N(t) we have

2
N + \uDN,, = ON,, = aj, exp(—An) = an exp (— ("—L”Dt) Dt>.
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(4) Hence, we have the general solution as
> > L T\ 2
u(z,t) = ; M, (z)Ny(t) = ; sin (nf) ap, €XP (— (nz) Dt) .

If n = 1, the eigenfunction decays like exp(—%)QDt.

If n = 2, the eigenfunction decays like exp(—%’r)th.

The shorter the wavelength, the faster the eigenfunction is going to decay. If ¢ is large but
finite, then we expect the solution to be dominated by the first term (n = 1).

utast) = sin(Farexo (- (7))

Recall 4.3.3: We have %;‘ = D%. Given length scale L and diffusion rate D, time scale of decay
is T = L?/D. Note that this is clear if we simply look at the exponential term in sum. <

Definition 4.3.4: We denote the time it takes for each mode to decay as e-folding time. In this

case, the e-folding time is
L\*1 .
nw) D

End of Lecture 11
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Start of Lecture 12

4.4 Sturm-Liouville Problems and Fourier Series

Recall 4.4.1: We defined our BVP as

d [ du
L[u] T (pdx> + qu = Apu

on a domain x € [0, L] with BCs

aru(0) - B5H0) =0,

du
Definition 4.4.2: If a problem is of the form

d

— (pj“) T qu=Xou= —(plep) + q(x)u = Mp(x)u

and if p,p > 0 and ¢ > 0 and if p, p,q, g—g are continuous on the interval [0, L] then we call this
problem a Sturm-Lioville problem. In addition, if we also have

a; >0, 3;>0 and a; +08;>0fori=1,2
then we call this problem a regular Sturm-Lioville problem. N

Definition 4.4.3:

(1) We define the Hermitian inner product of two functions () and 9 (z) as

L J—
(@) v@) 7, [ ole)e@iie) do

with respect to the weighing function p(z) > 0. Hermitian inner product can be complex.

(2) For a complex number C 3 z = a + ib where a,b € R, we define the complex conjugate of
zaszZ=a+1b=a—1b

(3) We define norm of ¢(z) with respect to Hermitian inner product as

L L
lol2 = (0, 0) = /0 p(2)p(2) (@) da = /0 plol?dz > 0 with pl> =0 <= ¢ =0,

def
This norm is also referred as the two-norm.

(4) If norm of a function is finite, then such function is said to be square integrable.

(5) If ||¢|| = 1 then we say ¢(z) is normalized.

(6) We say two functions ¢, ¢ are orthogonal if (¢,1)) = 0

(& refer to a set Of functions kT fOI' k‘ = 17 ... as an Orthogonal set lf iy i) = 0 fOI'
W 2 Pis Pj
distinct 4,7 = 1,....
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An orthogonal set where each function is normalized is called an orthonormal set.

(9) We define the Fourier coefficients of ¢(z) with respect to the orthonormal set {5 (2)} where
k=1,2,...as
(907 Sok)

We define the Fourier series of ¢(x) with respect to the orthonormal set the orthonormal
set {¢x(x)} where k =1,2,... as

0
Z 2 SDk Spk <
k=1

4.4.1 Convergence

Consider the N*® partial sum of a Fourier series

N

N =D (@, or)pk(@).

k=1

We can determine whether the Fourier series converges or not by checking if the above limit exists
as N — oco. One way to do this is to consider the difference between the function, ¢(x), and its
N partial sum ¢y (z). Consider the following

N 2 N N
PN P T (go— S o) - zw,@k)@k)
k=1 k=1 k=1
N N
= (0, ) + (%—Z(ka ) ( > (@, 08)0k, @ )
k=1 k=1
N N
+ (Z(% Pk) Pk (%w)%)
k=1 /=1
N N
= llell® =2 (e or)? + > (o, 08)°
k=1 k=1
N
= [lell®> = (. 0r)* > 0. (4.4.1)
k=1

The inequality in (4.4.1) is known as the Bessel’s inequality.

Definition 4.4.4: A sequence of square integrable functions {¢n(z)} where N = 1,2,... is said
to converge to a function ¢(z) in the mean if

li — =0.
Jim_ [l — ] =0

This is also referred to as mean square convergence. If the equality

(o)
> (.00 = llel? (4.4.2)
k=1
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holds, then
N

p(x) = > (0 01)en
k

=1

. 2 .
A}gnoon U || = Jim

which means Fourier series converges in the mean square sense. The equality in (4.4.2) is known as
Parseval’s equality. N

Definition 4.4.5: A set of square integrable functions is called complete if for any square inte-
grable function ¢(x), the Fourier series of ¢(z) converges in the mean. q

End of Lecture 12
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Start of Lecture 13

4.4.2 Properties of the £ Operator

The £ operator (Sturm-Lioville operator), which is given by,

am=—i(mw$)+«wv=mmm,

with boundary conditions

anu(0) — 51%(0) o,
azu(L) + (L) =

with p,p > 0 and ¢, a1, 81 > 0 with «o; + 5; > 0 for ¢ = 1,2 has the following properties.

Eigenfunctions Corresponding to Different Eigenvalues are Orthogonal

In order to show the orthogonality, we first show the self-adjointness. For this, we need to show the

following;:
() - (1)

Eigenfunctions are self-adjoint.

To simply the calculations, we assume homogeneous Dirichlet BCs «(0) = 0 = u(L). We have

u, },C[v] = lL[u],v = | u, lﬁ[v] — 1EM,?} =0
< p > <P p p
= /OL pu; [ — (pv") + qv] dz — /OL pv; [ — (pu) + qu] dz = 0.

By integration by parts we have

1 1 L
(u, E[v]) = <£[u],v> = / pu'v’ — pu'v’ dz = 0.
P p 0

Since this is always equal to zero, then the operator %ﬁ is self-adjoint (even if we allow for
complex functions).

Eigenfunctions corresponding to distinct eigenvalues are orthogonal.
Since
1,C[u] = Mu and 1E[v] = A\ov,
P P
after substituting we obtain

(u, Agv) — (Mu,v) = 0.
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If eigenvalues are real (which we will show they are always real), then we can factor out and

obtain
()\2 — Al)(u,v) = 0

If eigenvalues are distinct, then Ay — A\; # 0. Then we must have (u,v) = 0. Hence eigenfunc-

tions are orthogonal.

Eigenvalues are real and non-negative. Furthermore, eigenfunctions may be

chosen to be real valued

Eigenvalues are real.

Assume (A, v) is an eigenpair. Then they must satisfy the eigenvalue relation, that is %E[v]

Av. Since p(z) and £ are real we compute the complex conjugate and get

1£[@] = \T.
p

Observe that (X, 7) are also an eigenpair. Since %E is self-adjoint, then we must have

1 1
(v, E[v]) - (E[v],v) =0
P P
Hence, when we substitute the eigenvalue problem we get
('U, )\”U) - ()\”U,"U) - X(1)71)) - A(”?”) = (X - )‘)(Ua U) = (X - )\)HUHz =0.

For non-trivial solutions, we have v # 0. Hence we must have A = A € R.

Eigenvalues are non-negative.

We now show that the eigenvalues are non-negative. We have

1 L L
<v7 E[v]) = / pU— [—(pﬁ')/ + qﬁ] dz = / pv'v + quu dz.
P 0 P 0

Here we assumed Dirichlet BCs and used integration by parts. Hence

<v, ;EM) >0,

When we plug in the eigenvalue relation, we get

1
(v, pcm) = (v, \v) = A|Jv||* > 0.
When we solve for \ we get

(U, %E[v]) -
lol> ~

Hence the eigenvalue is non-negative.

We will show that we can take eigenfunctions to be real valued in the next lecture.

End of Lecture 13
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Lecture 14

Chapter 4. IBVPs in Bounded Domains

06 February 2019

Start of Lecture 14

University was closed and the classes were canceled on 06 February 2019.

University of Waterloo &
@UWszterloo

campus locations are closed
today, Wednesday, February 6, due to severe
weather conditions. Please monitor our
weather statement page for further details
and updates.

)

3:18 AM - 6 Feb 2019

355 Retweets 360 Likes *.o* % ‘%. : 0

Q 2 35 O 360

University of Waterloo @ @UWaterloo - Feb & v
Replying to

All dasses and labs are cancelled.

Q a1 Q7

Figure 4.4.1: https://twitter.com/UWaterloo/status/1093106691065835520.

End of Lecture 1/
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Start of Lecture 15

Properties of the £ Operator (continued)

Last time we showed the following properties for the Sturm-Liouville operator

Eigenfunctions corresponding to different eigenvalues are orthogonal (we showed this by first

showing self-adjointness).

Eigenvalues are real and non-negative (we already showed these as and ), further-

more, eigenfunctions may be chosen to be real valued (we still need to show this).

Eigenfunctions may be chosen to be real valued.

Let v € C be an eigenfunction of the system with the associated eigenvalue A. Then v =
vg + ivr where R 3 vg = Re{v} and R > vy = Im{v}. Since A € R and since v must satisfy
the eigenvalue relations, then we must have

1 1
;E[v] =\ = ;E[UR +ivr] = Mog +iV5).

By linearity we have

1 1
;[,[UR] + i;ﬁ[m] = AR + i\vy.

Since the real and imaginary parts must vanish, we must have

1

i — 1

pE [vr] = Avr these are eigenrelations for —L,

1

;L’[v[] = \vy. and if we solve each of these we get a real eigenfunction

Hence, each eigenfunction can be taken as real valued.

Each Eigenvalue is Simple

In other words, each eigenvalue has a multiplicity of one.

There Exists a Countably Infinite Number of Eigenvalues Having a Limit of
Infinity

In other words, the set of eigenvalues can be ordered as follows:

0< AN <XA<... with A\ — o0ask— .

Definition 4.4.6: The set of eigenvalues of an operator is called the spectrum of the operator.
<
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The Set of Eigenfunctions {vj(z)}r=12,. Forms a Complete Orthonormal Set of

Square Integrable Functions on 0 <z < L

The eigenfunction expansion (Fourier series) of v(x) converges in the mean

v(z) = Z(v,vk)fuk.

k=1

If v(z) is continuous, then it can be shown that the series converges uniformly to v(z) in the interval
question.

End of Lecture 15
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Start of Lecture 16

4.4.3 Examples

4.4.3.1 5 Steps for Solving PDEs with Separation of Vars. and Eigenfunction Expan-
sions
Remark 4.4.7: We use the following steps to analytically solve a PDE with separation of variables.

(1) Separating the Variables: Assume the solution is a multiplication of functions each with
a single variable and obtain separate ODEs for each.

(2) Solving for the BVP and One of the Separated Variables: We try to impose homoge-
neous BCs and usually start with solving for the spatial solution.

(3) Solving for the Other Separated Variable: We solve for the remaining solutions by
imposing the remaining BCs.

(4) Forming the General Solution: We use the principle of superposition to obtain the general
solution.

(5) Imposing ICs: We impose the ICs on the general solution (usually to obtain the Fourier
coefficients). N

4.4.3.2 Fourier Sine Series

We start with p(z) = 1. We have the following BVP.

_ &
dz? = " BVP
v(0)=0=wv(L) where 0<zx<L.
Previously, we found the eigenvalues as A\, = (n%)2 where n = 1,2,.... The orthogonal eigenfunc-
tions are

vp(z) = sin (n%m) .

To normalize, we want ||v,||> = 1. So we find [|v,||* = (vn, vp).

L L
[|vn ]| (Un, vn) /0 sin (nL:L" 2/0 1 — cos 2an dx 5

The orthonormal series is

2
Up(x) = 4/ 7 sin(n%x) where n=1,2,...
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4.4.3.3 Fourier Cosine Series

We start with p(z) = 1. We have the following BVP.

2

_Lg ~
393 1 BVP
é(o) —0= é(L) where 0 <z <L

We found the eigenvalues and eigenfunctions

A—(ff nd (f) here n = 0, 1,2
n=(ng a cos(npx) wheren =0,1,2,...

To normalize, we consider two cases.

o L
n=12... = ||vn ] =3
n=0 — lvoll® = L
Orthonormal functions are
1

— for n =0,

VL

Unp\T) =

n () o (”)f .
— COS{n—x or n —
I I ) Sy

4.4.3.4 Fourier Series

We start with p(xz) = 1. We have the following BVP.

d?v
T Av
v(0) = v(L) BVP
d—v(O) = d—v(L) where 0 <z <L
dz dx

Since the general solution is a sum of two linearly independent functions, we get
v(z) = acos(\/r:z) + bsin(ﬂx).
To ensure the solution is L-periodic, we must pick A so that the trig functions fit in the domain.

VAL =n2r or )\n:(2n%)2.

So, our orthogonal eigenfunctions

1, cos (271%33), sin<2n%m) where n =1,2,...
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To find orthonormal basis, we compute the norm of each function.

Recall from Fourier analysis that these form a complete basis and can reproduce functions with
Fourier series. Given v(z),

oo
v(@) = (v, 0)d0 + (v, 08) 0k + (v, g ttp.
k=1

4.4.3.5 Bessel Series

The Bessel’s equation is given by
22" + v’ 4+ (22 = n?)v =0 where n € Z,.
When we make the substitution z — v/ A’z and v(z) — v(z), we get
220" + 20"+ (A2 —n?)v =0,

which is equivalent to
Ao = —220" — 20" +n?v =0,
which is not necessarily in Sturm-Liouville form. We divide the above expression by z. We have

n2
" /
—2v" — v + —v = v,
z

equivalently,

Tz \Cdz) T s

2
d ( dv> +n—v:)\zv.

This looks like our Sturm-Liouville equation with

If our domain is 0 < z < L, then,

p—0,
as z — 0, we have p — 0,
q — 0.
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In order to close the problem, we need to impose certain boundary conditions.

We assume that v(0) is bounded and v(L) = 0.

To show the eigenfunctions are orthogonal, we must adapt our theory to this BVP.

Self-Adjointness
We want to show (u, %E[w]) = (%E[u],w). We have

<u, ;E[w]> - < ) /OLz [ '—l—fw} dz—/Oin[—(zu')’+Tfu]wdz

/L N+ w(zu') dz

0

L

L
[ — zuw' + zwu ] + / zu'w' — zu'w' dz (1)
0 0

w'(L) + Lw(L)u'(L)] — [0 - u(0)w'(0) + 0 - w(0)u'(0)]

I
O r—|

)

where in step (f) we used integration by parts. Hence, the operator is self-adjoint.

Orthogonality

Let (A, u;) and (Aj,u;) be two eigenpairs that solve the system where A\; # A;. Since the operator

is self-adjoint, then
1 1
w;, —Llug] ) — ,Cui,u->:0.
< 5 [ ﬂ) (p [uil, u;

When we sub in the eigenvalue relation, we obtain
(ui, /\juj) — (/\Z'U,Z‘, Uj) = (Aj — )\,)(uz,uj) = 0.

Since A\; # Aj, then we must have (u;, uj) = 0. Hence, the eigenfunctions corresponding to distinct
eigenvalues are orthogonal.

General Solution

In AMATH 351, we solve Bessel’s equation using power series. We obtain two linearly independent
solutions

v(2) = 1 Jn (VA 2) + &Y (VA 2).

Jy, is the Bessel function of order n of the 15t kind and Y,, is the Bessel function of order n of the
274 Lind.
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Remark 4.4.8: For all n, as z — 0, ¥,,(2z) — oo. For solutions to be bounded at z = 0, we need
ca = 0. Hence, we get

v(z) = Jo(VA2).

To find eigenvalues, we must impose 2" boundary conditions where
Jn(VAL) = 0.

This equation determines eigenvalues. N

End of Lecture 16
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Start of Lecture 17

Bessel Series (continued)

Last time we showed the general solution (viewed as an eigenvalue problem) is
2) = c1Jp (VA 2) + Yo (VA 2)
with the boundary conditions
v(0) is bounded and w(L) =0,

we got co = 0 and obtained

v(z) = J(VAZ) =0

Aside: This is analogous to sin(ﬁL). Define oy, to be the k-th root of J,(z). With this, we
can compute the eigenvalues to be

2
\/rLzoz;m = Akn:(%) where k=1,2,...,

with the corresponding eigenfunctions

vgn(2) = Jn(%z). q

Normalization

Since we have

L L2
ol = [ 2T/ Re's) e = G-I (/R ),

we get
\/_‘ JIn (aknL)
L Jn+1(akn)

Ukn(2) = with k=1,2,...

4.4.3.6 Fourier-Bessel Series

For v(z) defined on 0 < z < L that satisfies the same BCs hen

00
Z v Ukn Uk’n
k=1
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4.4.3.7 Wave Equation

We have the wave equation with the boundary conditions (clamped down) and initial conditions as

2 2
8u_ 2@ where 0<xz < L } PDE

2~ o

u(0,t) =0 =wu(L,t), where t>0, } BCs
u(z,0) = f(z)

ou ICs

—(z,0) = g(x), where 0<ax <L.

ot

(1) Separating the Variables: We assume u(z,t) = M(2)N(t) and plug it into the PDE. After
simplifying, we get

N// M//
MN" = *M'N — —— =—— = —\.
¢ 2N M
We obtain the ODEs
N" + \?N =0
M"+ XM = 0.

We separate the BCs and obtain

M(O)N =0 = M(0) =

07
M(L)N =0 = M(L) =0.

Hence we get the BVP for spatial component as

—MT =AM BVP
M(0) =0 = M(L)

(2) Solving the BVP for Spatial Variable: We have the general solution as
M =c sin(ﬂx) + co cos(\/x:z:)
With the BCs, we get M(0) =0 = c¢o = 0. Hence we have
M= Sin(\/rm).

We also have M (L) = 1 sin(ﬂL) = 0, which gives us

VAL = nr = Ap = (n%)2

Hence we obtain

M, (z) = sin <n%aﬁ>

— M,(z) = \/?Sin(nz:r).
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(3) Solving for the Temporal Equation: For the temporal component, N(t), we have
2 2 T\2 o
N"+ X22N =0 = N”—i—(nZ) AN =0.
This has the solution

. ™ ™
N(t) = a, sin (nzct) + by, cos (nzct).

(4) Forming the General Solution to PDE: By superposition of the all solutions, we get
> > T T 2 T
u(z,t) = ; Ny (t)My(z) = nz::l {an sin(nzt) + by, cos (nztﬂ \/ 7 sin(nzx>. (4.4.3)

@ Imposing ICs: We project the ICs onto eigenfunction M;. From the ICs we get
oo
u(z,0) = f(z) =D buMy(z) = by = (f, M,).
n=1

We also have

L N

681;(95’0) =g(x) = ian (n%c) M, () = ap = <n> (g9, Mp).

3
Il
_

End of Lecture 17
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Start of Lecture 18

No class was held today due to midterm.

Remark: The average for the midterm is %77. The solutions are posted on Learn. N

End of Lecture 18
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Start of Lecture 19

Wave Equation (continued)

Recall 4.4.9: We found the solution for wave equation in (4.4.3), where

an = %(Q,Mn(x)) and b, = (f, My (x)).

Note that we have the frequency of the oscillation as

nmwc

T

Wp =

Energetics of Wave Equation: The PDE can be written as

O _ 0t

Porz = 1 o2

To find how the energy changes in time we multiply by %:f and integrate over domain. We have

LT oud?u LT oud?u Lyo|[/ou)? L 19 (oudu d%u Ou
GUIU o= [ |7 PONAN N qp= [ | Z(2uon) _ Tudupy
/0 ['Oﬁt aﬁ]dx /0 [ ot aﬂ}dx (:*/0 201 <8t> v /0 [6x<8t8x> dtoz 0z | °*

The BCs that we imposed are

u(0,t) =0 =wu(L,t).
Since %(O, t)=0= %(L, t), we have the first term on RHS as

L L
0 ([ 0Oudu Ou Ou
T|l—(———=—||dz=T|——| =
/0 [w(at axﬂ v [&t ax]o 0
We have the second term of RHS as
L a2 L 2
=T auaudgu:—T/ g a—u dzx.
o Otdx Ox 2 Jo O0t\ \Ox
We combine the two non-zero terms and obtain

de0u2 d (LT /ou\? de8u2T0u2

We denote the kinetic energy density as the term
p(duY’
2\ 0t )’
L 2
p [ 0u
A= — ] d 4.4.4
[ a8(%) an (144
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where A is the cross sectional area. Following the argument from before, we define the potential

energy density as )
T (Ou
()

/OL A%(%)Q dz. (4.4.5)

The Equations (4.4.4) and (4.4.5) state that the sum of KE and PE (total energy) is conserved.
These equations express the conservation of energy.

and the total potential energy as

Total Energy of the String: We have

o0

u(z,t) = Z [an cos(wpt) + by, sin(wnt)]Mn(:c)

n=1

Z wn [ — ap sin(wpt) + by, cos(wnt)]M (x)

dM,,
dz

ou
%(xat)

= Z [an cos(wnt) 4 by, sin(wyt)] (),
n=1

My _ 0T 2 cos(nZa)
dz.  LVL L)
After some algebra we find

[3(6) 56 - S o,

which is closely related with the Parseval’s theorem. The total energy (which is an integral) is equal
to a sum of the square of all Fourier coefficients. In particular, the eigenfunction n has

(n%) g [a2 +b2].

amount of energy which is conserved for all time.

where

4.4.3.8 Diffusion Equation

We have the diffusion equation as

Ou _ 0%
ot ot?
on the domain 0 < z < L and t > 0. We impose the Neumann BCs,
ou ou

o,y =0=2YL h
8x(0’t) 0 833( ,t) where t>0

and the initial condition

u(z,0) = f(x) on the domain 0 <z < L.
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Conservation of Mass: If the total amount of dye is conserved, then

o L
= / udx = 0.
at Jo
To determine if the total mass is conserved, we integrate the PDE over the domain. We have
L L 92 d L L 92 L
8udﬂv—/ Daudx@)/ udx—/ Daudx—/ 2 D@ dz.
0 8t 0 8:[72 de 0 0 8.’1}2 0 8.’1: 8.’[’

On RHS, by FTC we have
3,
D— )
or |,
which is zero due to Neumann BCs. Hence, the total mass is conserved. Due to this nature,
Neumann BCs are called insulating boundary conditions. When we have homogeneous Dirichlet

BCs, (which states the solution itself is zero at the boundary), the mass reaches zero given enough
time. Hence, the mass is not conserved under Dirichlet BCs.

End of Lecture 19
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Start of Lecture 20

Exercise 4.4.10: Read section 4.4.2 in the course notes about finding a solution to diffusion equa-
tion. Looking at solutions to diffusion equation with either Dirichlet or Neumann BCs, why does

one conserve total mass and not the other?

<

Remark: Assignment #5 is skipped, assignment #6 will be posted later this week. N

4.4.3.9 Laplace’s Equation on a Rectangle

We have the Laplace’s equation as

2u 0% 0 <z <Ly,
—— 4+ ——= =0 on the boundar
ox? ~ Oy? T o< y < Ly

The boundary conditions we pick are

u(z,0) = f(x) and wu(zx,Ly) = g(x),
u(0,y) =0 and wu(L,,y)=0.

g9(x) y

L

f(z)

Figure 4.4.2: Laplace’s equation on a rectangle.

We use the 5 steps we discussed in Remark 4.4.7 to solve the problem as follows.

(1) Separation of Variables: We assume the solution is of the form u(z,y) = M(x)N(y) and

substitute this into PDE and simplify. We obtain

M'N+MN"=0 =

We obtain two ODEs,
N'"—AN=0 and M"+ M =0.

We separate the homogeneous BCs. When we try

u(z,0) = f(z) = M(z)N(0) = f(),

M// N// N// MI/

Winter 2019 AMATH 353

56



Lecture 20 Chapter 4. IBVPs in Bounded Domains 29 February 2019

we don’t get homogeneous BC on M. We cannot build a complete set of eigenfunctions. We can
only separate homogeneous BCs.

u(0.y) =M(O)N(y)=0 = M(0) =0,
w(Ly,y) = M(L)N(y) =0 = M(L;) =0
Hence, we get our BVP as
M" 4+ \M =0,

(2) Solving the BVP: The ODE we want to solve is

M" 4+ M =0 with M(0)=0=M(Ly,),

2
s . N 2 . s
Ap = <nLI> with M, = HiLx sin (an x>

(3) Solving for N(y): The equation looks like

which has the solution

N/ = \yN,, = 0.

After we plug in the eigenvalues we obtain

s
N — <an> N, = 0.

The solution can be written in different ways
~ T ~ s
Nn(y) = apexp| n—y | + bpexp| —n—y |,
L, L,
or, equivalently,

Ny (y) = ansinh (T{y) + by, cosh (—n2y> )

T x

As long as the two solutions are linearly independent and solve the problem, we can rewrite it in
various ways.

(4) Forming the General Solution: A solution is

2
un(x,y) = My (2)Np(y) = UL— sin(nfz) [an Sinh<n£y> + by, cosh (n;jy)]

The general solution is

u(z,y) = g:l Mo (2)Na(y) = g:l Mo (2) [an sinh (n;y> + by cosh (nfy)} :

x T
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@ Finding the Fourier Coefficients: We have the first boundary condition as

u(z,0) = zpw Vo = by = (f, M)

For the second boundary condition, we have

u(z, Ly) Z M [an sinh (ngrLy> + by, cosh (ngLyﬂ .
We take the inner product with My,. We get

(9, Mk) = q, sinh (k;Ly> + by, cosh <k£rLy> )

T

Which gives us
(g, My,) — by, cosh(kLLzLy)

ajp =
sinh (k2 L)

Remark 4.4.11: What do we do if we have non-zero BCs on all four sides of the rectangle?

By linearity we can add the solutions for the homogeneous BCs to get the solution for suitable BC
as follows.

g() 0 g(z)
0 0 + h(y) ity) = hy) i(y)
f(=) 0 f(x)
u(z,y) + ug(,y) = u(,y).

Figure 4.4.3: Using linearity of Laplace’s equation.

Note that if V2u; = 0 = V2us, then VZ(ul + ug) = 0. Since Laplace’s equation is linear, then we
can build a solution to the general problem by solving two simpler problems. N

End of Lecture 20
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Start of Lecture 21

4.4.3.10 Laplace’s Equation on a Circle
Recall that previously we wrote the Laplace’s equation in Cartesian coordinates as
0?u  0%u

Viu=——+

o> "oy ="

We start solving Laplace’s equation in circle.

Y

L.

u(a,0) = f(0).

Figure 4.4.4: Laplace’s equation on a circle.

We will impose the BCs on the perimeter of the circle. Laplace’s equation in polar coordinates is

10 [ Ou 1 0%u 0 <6 <2,
=——|r— —— = the d i -
Vu ~ 3 (r 8r> 2502 0, on the domain 0<r<a
with the explicit boundary condition,
u(a,0) = f(6).

We have the implicit boundary conditions
u(0, 0) is bounded,
with the periodic boundary conditions

u(r,0) = u(r,2m),
ou ou
%(7“7 0) = %(7“’ 27).

We use the 5 steps we discussed in Remark 4.4.7 to solve the problem as follows.

(1) Separation of Variables: We assume the solution is of the form u(r,0) = R(r)0(f). We
substitute this into the PDE and simplify by multiplying the expression by %@ to get

1d(dR\ 1., rrRY O
. r(rRr’) __g”
R O
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We recall that we specified our BVPs as u(a, §) = f(0) in Figure 4.4.4. The BVPs in the 0 direction.
This is because we have periodic BCs which are not Sturm-Liouville which yield a complete set of
eigenfunctions. Also, since the Dirichlet BC at r = a is inhomogeneous that gives problems in BVP.

We obtain the two ODEs as
r(rR) — AR =0

N , and O” + X0 =0.
—= "R’ +rR — AR =0,

We separate the BCs in 6 direction as follows.

O0)R =0(27)R = 0(0) =

(2m)
©'(0)R = ©'(2m)R = ©/(0) = O’

© )
©'(2m).

(2) Solving the BVP: We solve the BVP as follows.

0"+ )6 =0,
0(0) = 0(2n),
e'(0) = @' (2n).

This has the solution as

Ap=n> and 0O, =A, cos(nf) + By, sin(nf) where n = 0,1, ...

(3) Solving for R(r): We need to solve
R’ 4+rR —n’R =0.

This ODE is of the Euler type. We find our solution with R = r® (that is, we assume R is a
polynomial). After the substitution we get

(@)(a—1)r* P2 far®™ —n?® =0 = [o® —a+a—n*r®* = 0.

Since this is true for all , then we must have

0> —a+a—-nt =0 = a=4n.

Hence, we obtain the solution to this ODE as R = D,r"™ + E,r~" where D,, F, are constants.
Since we have
u(0,0) < oo = R(0) < oo.

Hence we must have E,, = 0. Note that if n = 0 (then A = 0) we get
r(rR') =0 = (rR') =0.

We integrate this to obtain

D
rR' =D, = R =-—".
r

We integrate again and obtain
R(0) = Dolnr + constant.
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Note that this solution has two linearly independent components, Inr and 1. Since R, must be

bounded at » = 0, we must drop Inr. This forces us to have Dy. Then
Ry = constant.
We denote this constant to be Dy. Which gives us Ry = Dg. Hence, for all n =0, 1,

R, (r) = Dypr™.
@ Forming the General Solution: We have the general solution as

u(r,0) = Rp(r)On(0) = > Dnr"[Ay cos(nf) + By sin(nd)].
n=0

n=0
After combining what we found previously (merging D,, to A,, B,,), we find

3" r"[A, cos(nd) + By sin(n)).

n=0
(5) Finding the Fourier Coefficients: We have the BC as

u(a,0) = f(6) = a"[Ay cos(nf) + By sin(nf)],

n=0

... we get

which gives us the Fourier series decomposition for f(#). Since sin(nf) and cos(nf) are orthogonal,

we can compute A, and B, using trig formulas. We get

(f, cos(nd)) (f,sin(nd))

- a"||cos(n€)”2 " a”Hsin(nQ)HQ.

End of Lecture 21
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Start of Lecture 22

4.4.3.11 Vibrating Membrane (circular)

O®u oy 5|1 0 ([ Ou 1 0%u
g —CVu=c [a(a)*mw}

u(a,0,t) =0,

with BC

and with the ICs
u(r,0,0) = f(r,0),
ou

a(r, 0,0) = g(r,0).

Note that the boundary condition implies
u(a,d,t) = 0.

Figure 4.4.5: Boundary conditions on vibrating circular membrane.
We use the 5 steps we discussed in Remark 4.4.7 to solve the problem as follows.

(1) Separation of Variables: We assume the solution is of the form
u(r,0,t) = R(r)00)T(t)
and sub this into the PDE and divide the expression by ¢2ROT. We obtain

™ 11 10"

- = — Y _
— 2T Rr(r )+r2 €] A

1 1
ROT" = *|OT=(rR') + ©"RT
T T

We get one of the ODEs as

T" + \*T = 0.
For the second ODE we have
1 1 (__)// @l/
E(TR,)/ + ﬁ@ = 7}\ — %('I"R,), +'I"2)\ = *6 = U.

We pick the RHS as p since this yields the eigenfunctions in . When we separate periodic BCs
(which are not stated in the beginning but they are implicitly there), we get

0" 4+ 10 =0,
0(0) = ©(2r), % (BVP 1)
0'(0) = ©'(27).
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Hence, we get the last ODE as

R(a) =0,

r(rRY + 1 AR — pR=0 = 2R’ +rR' + (XA — y)R =0, with the BCs 0 <
Q.

BVP 2

Note that BCs imply drum is clamped down at radius a and the center of the drum has a finite
amplitude. There are two eigenvalues to find: A and p.
@ Solving the BVPs: We solved BVP 1 previously. For n =0,1,..., we have

pn =n? and ©, = A, cos(nb) + B, sin(nd).

For BVP 2, we have the ODE as the Bessel’s equation (the solutions are the Bessel functions).
Hence, the general solution is

R(r) = DpJny(VAT) + E Y (VAT).

Since by BC 1 we require R(0) < oo, then we need to have E,, = 0. By BC 2 we have R(a) =0 =

Dy Jn(VXa).

Recall 4.4.12: o, , is the m™ zero of the n'! order Bessel function of 15 kind. q

We need vVAa = apm form =1,2,.... Hence

a n=20,1
A — n,m f ) ) )
R Y
This gives us
Rum = Jn (a";lmr>

Solving for T'(t): We need to solve
T" + X\ymT = 0.

The equation looks identical to the 1-D case expect with the A\. The solution is
Tom = Fpm cos (c\/ At ) + G Sin (c Anm t).

The eigenvalue determines the frequency of oscillation which is set by the geometry of the problem.

Forming the General Solution: We have the general solution as

u(r,0,t) Z Z{ (anm )[Anm cos(nb) + By sin(nh)] - [an cos( Snm

n=0m=1

t) + Gy sin (ca’;’" tﬂ }
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Finding the Generalized Fourier Coefficients: Given any initial conditions f(r, ) and g(r, §),
we can compute the coefficients which is a Fourier-Bessel series and it is exhaustive to compute.

Special Case: There are some modes (eigenfunctions) that look like

In(\/Anm 1) cos(nb).

Definition 4.4.13: A node is a line where the eigenfunction is always zero. <

ﬁ
(o0
NI

AN T
NZINFAND,

O

Figure 4.4.6: Nodes of modes.

N

4.4.3.12 Diffusion on a Circle

We have our PDE as

ou 2 101 Ou 1 0%u
ot =PV “_D[a(a) Waez}

which is on the physical domain

0 <6< 2m,
0<r<a,
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and has boundary conditions

and the initial condition

Exercise 4.4.14: Repeat the procedures in Remark 4.4.7 and find the solution as

u(r, 0,t) = i i{Jn(

m=1n=0

O mT

a?

)[Anm cos(n8) + By sin(nd)] - exp <—Da’2”” > } 4

End of Lecture 22
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Start of Lecture 23

4.4.3.13 Schroédinger Equation

From classical mechanics, Newton’s 2 law yields, under a potential function V' (x)

d%z ov
T

In quantum mechanics, we consider the (complex) wave function, W¥(x,t). This is useful in that
| (z, t)|* dz denotes the probability of finding a particle between 2 and 2+ dz at time ¢. Schrédinger
equation is described as below.

ov n? 9?w
th—— =

o = amase TV@Y.

Motivation: Suppose the wave function is of the form

U(x,t) = Ae'br=wt),

We observe that

ov
97 kv
ar
ov

de Broglie’s Assumptions: We assume k is related to the momentum and w is related to the

energy.
E
k= % and w= 7
Using this, we get

v
p¥ = hkV = —iha—,

ox

EV = v = zha—ql

ot

Recall 4.4.15: In classical mechanics, we have the total energy of a particle as

1 1p?
E = imv2 +V(z)+ 5% + V(x),

where p is the momentum. <
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Remark 4.4.16: In quantum mechanics, we begin with the above expression and rewrite p and FE
in terms of our partial derivatives.

1
EV = —p?U 4+ VU,
2m

We substitute our assumptions, we get

or 1 9\’
h—=—|—th— | ¥ g
m@t 2m< Zh(%n) +Vy,
L Ov r? 9?
ko = Tamaz TV,
which is called the time dependent Schrédinger equation. N

We use the steps we discussed in Remark 4.4.7 to solve the problem as follows.

Separating the Variables: We assume the solution is in th form ¥ = M (z)N(t). We sub this
into PDE and simply the expression by dividing it by M N. We obtain

N/ h2 M//
N o M

Here the convention is to denote the non-negative constant eigenvalue as E because it is related to
the energy.

h2
ihMN’:—%M”N+VMN = ih +V(z) =E.

Temporal Equation: We have the ODE for the temporal equation as
ihN' = EN.
This has solutions .
N(t) = Noe "r*.

This gives rise to oscillatory behavior.

Spatial Equation: We have the ODE for the spatial equation as

h2
——M" +V(x)M = EM.
2m
This is called the time independent Schrédinger equation. This ODE is of the Sturm-Liouville form

with

2
p(x) = 2% >0,
q(z) =V(z) >0,
p(z) =1,

FE is the eigenvalue.

Given “nice” BCs, we can deduce that we have a countable infinite number of eigenvalues or energies
E,, where each has a corresponding eigenfunction, denoted as M, (x) for n =1,2,....
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Forming the General Solution: We have the general solution as

Ul 1) = nf:l My (2) exp (—z’i”t) .

4.4.3.14 Spherical Wave Equation

In spherical coordinates, we define the position in terms of r, 8, ¢. Recall we have the wave equation

in cartesian coordinates as )
0“u

22
@—Cvu.

In spherical coordinates, we get

gty [ L0 (a00) |10 (o) 1 ok
cVu—c{TzaT " or +r281n¢8¢ Sm98¢> +7’251n2¢392 '

We use the steps we discussed in Remark 4.4.7 to solve the problem as follows.

(1) Separation of Variables: We assume the solution is of the form u(x,t) = M(x)N(t). We
sub in this equation into the PDE and simply the expression by dividing it by ¢?2M N. We obtain

N"  V2M
MN" = *V2MN = i v
We get the ODE for the temporal equation as
N" + AN = 0.
For the spatial equation we have
~V2M = AM.

Here A is the 3-D eigenvalue and M is the 3-D eigenfunction. We need to separate this into ODEs.
We assume M (x) = R(r)®(¢)O(0).

End of Lecture 23
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Start of Lecture 2

4.5 Inhomogeneous PDEs

Consider the inhomogeneous PDEs where ¢t > 0 and ICs,

9%u . ou .
pw + Lu] = g(z,t) with wu(z,0) =0 and E(:c, 0) =0, (Hyperbolic)
pgz; + ﬁ[u] = g(gm t) with u(m7 O) =0. (Parabolic)

Method for Solving Inhomogeneous PDEs: The equation we want to solve is u(z,t). We
introduce a temporary variable v(x,t;7). We get the PDEs and initial conditions as

2
p% + Lv]=0, t>7, with v(x,7;7) =0 and %(fﬁ, TT) = géa(v;c)z)7 (Hyperbolic)
p% +Lv] =0, t>7, with v(zr,7;7)= ggz(:;)z) (Parabolic)

We recover our actual solution using

u(z,t) = /Otv(a:,t;T) dr.

4.5.0.1 Leibniz’s Principle

Suppose we have the time derivative of the integral as

d rf®
— h(s,t)ds.
dt Jgqy

With change of variables (exercise) we obtain

f@)
.0 - Entow.0+ [ Ss0as

g(t)

f@®)
4 h(s,t)ds = gh
dt g(t) dt

We need the above result to compute partial derivatives of u in our given PDEs. We have

ou t v tow

5 = 1-v(x, t;t) — O—i—/o E(x,t,ﬂdz = v(z,t;t) +/0 a(x,t,T)dz,
Pu 0 ov t 9%

i a[v(m,t, )]+ a(w,t,t) —i—/o Tl (x,t;7)dr.
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Parabolic Case: We substitute the 1st expression into the LHS of the PDE. We want to show
we get g(z,t) on the RHS. We have

9 ) !
p%‘f‘E[U] =p 'U(x;tyt) +/0 E(l‘7t77)d7 +£|:/0 U(.%,t77'>d7':|
g(z,t)/p(z)
o oov
—gat)+ [ |p @ tin)+L0) | dr
0 t

——
=0

= g(z,1).

as required. Hence, we have the means of computing u(x,t).

Hyperbolic Case: some line here fix

) t 52 t
pgtg+£[u] = gt[v(a:,t;t)]Jrg:(a:,t;TH/ Ztﬁ@’“) dz +£[/ vi@ i) dT}
— L b ’
9(@.t)/p(a)
t 8211
= g(z,t) + Poz T+ L[v] dz
0

=0
= g(xvt)

as expected.

4.5.0.2 Inhomogeneous Wave Equation

We have the inhomogeneous wave equation as

Ou o

92 cax2:g(m,t) on —oo<x<oo, andt >0,

with ICs

0
u(z,0) =0, and 8—7:(:6,0):0 on —oo<zx< 0.

4.5.1 Duhamel’s Principle

We define the corresponding system for v(z,t; 7). We have the PDE as

Pv _ ,0% 0 <z< dt>

—_— — C ——= = on — X oo, an T

ot? 0x2 ’
with ICs

v(z,7;7) =0, and Z(%T;T):g@ﬁ) on  — 00 < T <00
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We can apply d’Alembert’s solution where the IC is at ¢ = 7 instead of t = 0. We have
x4c(t—T)
v(xz, t;7) = / g(s,7)ds.

Hence, we can obtain the solution as

t z4c(t—T)
u(:v,t):/ v(z, t;7) / / (s,7)dsdr.
0

Remark 4.5.1: Suppose we have non-zero ICs as

ou
u(z,0) = F(z) and a(:p,()) = G(x).

We have the solution as

u(z,t) = %[F(x—kct) + F(x —ct)] + —

1 :erct x+c t T
5 / ds+// g(s,7)dsdr.
CJr—ct

End of Lecture 24
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Start of Lecture 25

Remark 4.5.2: Read section 4.5.2 in course notes for inhomogeneous diffusion equation. <

4.6 Eigenfunction Expansions

We went over 3 classes of PDEs (hyperbolic, parabolic and elliptic). We had

0*u .
Pop + Lu] = pF (Hyperbolic)
p% + Llu] = pF (Parabolic)

0%*u -
—pain + Llu] = pF (Elliptic)

Each of these have the same eigenvalue problem.

,C[Mk] = /\kpMk, for k= 1,2, ey

with some BCs. We have found for Sturm-Liouville problems, the M}’s are orthogonal. Therefore,
we can consider an orthonormal basis, My, that is complete.

Motivation: Previously, in the homogeneous PDEs, we used separation of variables and found a
series solution. The series summed up over all the orthonormal eigenfunctions.

An inhomogeneous PDE does not allow for separation of variables in the same way. However, since

the eigenfunctions are complete, we can look for a series solution and determine how this can be
satisfied. Note that this uses the same eigenfunctions. The idea is the following:

(1) Consider the homogeneous PDE and compute the eigenfunctions.

My (x),\r, where k=1,2...

(2) Assume a series solution

(3) Assume a series for the forcing
F(z,t) = Fi(t)My(x).
k=1

This works because eigenfunctions arise from the physics and geometry of the problem. Other bases
will not turn out to be as convenient.
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Hyperbolic Case: We have the hyperbolic problem as

p(?;tg + Llu] = pF.

We will assume the following,.
(1) The eigenfunctions are of the form My(x) for k =1,2,.. ..
(2) The solution u(z,t) can be written as a series in Mj(z).

(3) F(z,t) can be written as a series in My(z).

We project the PDE on My(x) (in other words multiply the PDE by M(x) and fOL dz). We have

L 92y L1 L
/ PatQMe,dx—F/ p—Llu|My(z) dz :/ pF(z,t)My(z) dz.
0 0 P 0

Equivalently, we can also write this in terms of the inner product. We have
0u 1
—, M, —Llul, My | = (F, My).
(G o) + (Gt bae) = (70

For the first term, we factor our the time derivative. For the second term, we use self-adjointness
and then the eigenvalue relations. For the third term, we rewrite it using Fourier coefficients of F'.
We have

[e.9]

u(w,t) = Ng(t)My(x) = (u, My) = Ny,
F(z,t) =Y Fut)Mp(x) = (F, M) =F}.

This yields

d? 1
& ) + (u pﬁ[MA) — (F.M))
d2n,

— —dtj NN, =F, for £=1,2,....

Note that when we have no forcing, then we get

d?N,
de2

+ ANy =0,

which was the equation for temporal equation as expected. To find ICs of N,’s, we consider the
initial conditions.

u(@,0) = > Np(0)My(x) = f(w),
k=1
ou > de
o7 (7:0) = ; —5 (OMi(x) = g(x)
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We project each equation on M,. We have

Ne(0) = (f, My),

AN,
—L0) = (¢, M
dt ( ) (97 Z)a

d?N,

S L\ N, = F. (4.6.1)

de?
Some of the techniques we can use this to solve this are
e Laplace transforms (we use this method in Remark 4.6.3),
e Green’s functions,
e Variation of parameters.

We get the solution as

Ny (t) = Ng(0) cos( N t) + ]:[};)%)) sin< Ak t) + \/i\? /Ot Fi(s) sin(ﬁ(t - s)) ds.

Parabolic Case: When we go through the same approach, we find

dN
T;+Aka:Fk for k:1,2,...,

with Nk(O) = (f, Mk)

This is a linear DE and we can solve it by introducing an integrating factor. We let u = e? and
multiply the ODE with u. We have

dN,
Mtk A€ Ny = MR
dt
After integrating we get

td t t
/ (NN dt = / MELdE = MNL() — Np(0) = / M5 By (s) ds.
0 0 0

Hence we have

t
Ni(t) = et N,(0) + / e M=) By () ds.
0

Elliptic Case: Similarly, for elliptic case we the below expression (we also have the BCs),

AN
dy?

+ AN =F, for k=1,2,....

End of Lecture 25
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Start of Lecture 26

4.6.1 Laplace Transforms

Definition 4.6.1: The Laplace transform of a function is defined as

2 g [

def

Note that we use £ (mathcal L) to denote the Sturm-Liouville operator in Notation 4.1.1 and use
% (curvy L) to denote the Laplace transform that we introduced in Definition 4.6.1. q

Remark 4.6.2: The Laplace transform has the following properties.

(1) Differentiation:
2y = sZLy)] - y[0]-

In general, for a function f we have
LU = LI = S TH0) = "2 0) = = sf0D(0) = 070D (0).
(2) Convolution:
L7LI1 Ll = | * g,

where (f * g) is the convolution of two functions given by
t
(Feo)) = [ =)

(3) Laplace transform of exponential:

1
Lle = —.
s—a
(4) Laplace transform of trigonometric functions:
Llcos(wt)] i
wt) = ——
§2 4+ w?’
w
ZLsin(wt)] = ——.
sinwt)] =

(5) Laplace transform of hyperbolic trigonometric functions:
S

2 _ o2’
w

2 _ 2"

Z|cosh(wt)] =
Z[sinh(wt)] =
The proofs for these properties are not in the scope of this course. We will take these properties

as given. That being said the proofs are straight forward. They use the linearity of Laplace
transform. 4
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Remark 4.6.3: We will solve the hyperbolic ODE for N (t) we found in (4.6.1) by using Laplace
transform. Recall that we had

dN;,
W(O) = (9, My),
d2N;,
dt?

+ AN = Fp, for k=1,2,....

Note that we can also solve this by using variation of parameters. We take the Laplace transform
of the ODE and use its linearity. We have

d?N
z[ dtQ’“ + )\ka} = Z|Fy,
d?N,
z[ dtj] + LN = ZIF.

By the differentiation property for Laplace transform we have

d2N,

fLW]w%mmﬂm@—M@+mmrzwy

We first solve for Z[Ny]. We have

LN = o Ni(0) + 5 N}(0) +

— _ - —— Z|Fy].
82—}—>\k k 82—}—)\k k S —|—)\k$[ k]

Since we have

1 1
f[cos( )\kt)} Zﬁ, and ,2”[ o sin(mt)] :52+)\k,

we obtain
2V = Zleos( MWM@+$F%§?WM@+$F%@?)3@L

We now take the inverse Laplace transform. We obtain

Ny (1) = cos( e t)Nk(O) + SWN,;(O) + (m\/\%?t) *Fk(t)>.

This is equivalent to

sin(v/At) Esin(vAg (t— 1))
Ni(t) = Ni(0) cos At —|—N’0+/ Fi.(7)dr.
(1) = N(0) cos(VAxt) + N (0) ===+ [ =20 (")
We used the convolution property above. N
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4.6.2 Resonance
Consider a general hyperbolic PDE.
p(x) =5 + Llu] = pF(z,t).

Here £ is the Sturm-Liouville operator. Pick F(x,t) = M;(z) sin(wt) where M; is an eigenfunction
and w is a real frequency. To make things simple, we suppose

= Ni(0)
= N;(0)

0 0,
0 0.

Given our previous result, we have

_ Esin(vAg (t— 1)) B
Nk(t)—/o r Fy(r)dr for k=1,2,....

We compute Fj(t) by projecting it onto My. We have

Fk = (F, Mk) = (Mz sin(wt), Mk) = sin(wt)(Mi, Mk) = sin(wt)dik(Mk, Mk)

Assuming M}, is normalized, we have

0 if k # 1,
Fy, =
sin(wt) if k =1.

Hence, we have
0 if k # 1,
Nk(t) = t sin(\/ri(tff))
0 VA
Recall that 2sin Asin B = cos(A — B) — cos(A + B) and obtain

1 t ' 1 t
N; = /0 sm(\/x(t — T)) sin(wr)dr = /0 cos[wr — /i (t — 7)] — coslwT + /Ai (t —7)]dr

sin(wr)dr  if k =1.

VA 2V
_ 1 [sin[(w + VAT = VA sin[(w — VAT + \/m]]t
2N\ wH VA w— VA 0
1 |sin(wt) + sin(v/A; ) B sin(wt) — sin(v/A; t)
N QW w+ \/x w— VA
1 wsin(mt) - msin(mt)
VA (w? = Xi) ‘

Hence, we obtain our solution as

(o, 1) = (wsin(\/xt) - msin(mt))
o VA (W? = A)

End of Lecture 26
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Start of Lecture 27

Following the calculation from last time, the solution to the forced hyperbolic problem is

(wsin(v/A;t) — /A sin(wt))
N(cﬂ — )\z) ’

Ni(t) = 6;xN; where N; =

The complete solution is

(wsin(v/Ait) — /A sin(wt)) '
V(@ =) Mi(@).

u(x,t) =

The two frequencies that arise in the solution are w (forcing frequency) and y/A; (natural frequency).
The resonant case occurs where w — y/\; . We cannot plug this in since we get % but we can take
the limit as w — v/ A; . We have

(wsin(v/Ait) — V/A; sin(wt))

li t)y= 1l M;
w—:m\/)\i U(l" ) w—im\/ki V )\,L (w2 — >\z) (-’L‘)
(sin(v/Ai t) — VAt cos(wt))
= lim M;
(*) w—=vVXi VA 2w
_ (sin(V/Ai't) — /\itcos()\it))M'

2\
Where in (x) we used L’Hopital’s rule.

Remark 4.6.4: The solution increases linearly with time. As t — oo we get u — oo. This never
happens because the linear approximation in derivations the wave equation (or other hyperbolic
equations) break down when w is sufficiently large. This is the solution to the resonant problem. <«

4.6.3 Inhomogeneous Boundary Conditions

Suppose we have mixed (Robin) BCs that are inhomogeneous where

@V (0,8) = 515 (0,0) = (o),
ov
Ong(L,t) + ﬁQ%(La t) = gQ(t)‘

The presence of non-zero g; and go prevent us from using separation of variables on this prob-
lem. The idea is to decompose our solution into the sum of two terms, one of which solves the
inhomogeneous BCs. We decompose our solution as

u(z,t) = W(z,t) + V(x,t).
We will pick V' (z,t) such that it satisfies the inhomogeneous BCs and it is a linear function of x.
Example 4.6.5: Consider the PDE

0 0? 0<zx<L,
8—? - Da—g = g(z,t) on the domain
x

i
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with the inhomogeneous Dirichlet BCs and IC

0,t) = g1 (t),
BCs: w0,8) = g1(t) on the domain ¢ > 0,
U(L, t) = gQ(t)v

IC: u(z,0) = f(z) on the domain 0 < z < L.
We decompose the solution and obtain
u(z,t) = Wiz, t) + V(x,t).
For this case we pick

L—=x

Viet) = 7o:(0) + =7

L

g1(t).

What determines W7

Since V is a linear function of z, then we have %1‘2/ = 0. When we substitute this into PDE we get

0 0? ow o*wW

When we sub in IC we get

=g(x,t) — a—v = g(z,t).

ot

u(z,0) = W(z,0) + V(x,0) = f(z) = W(z,0) = f(z) — V(z,0) = f(x).
We we sub into BCs we get
u(0,t) = W(0,t) + V(0,t) = g1(t) == W(0,t) + g1(t) = g1(t) = W(0,t) =0,
u(L,t) =W(L,t) + V(L,t) = g2(t) = W(L,t) + g2(t) = g2(t) = W(L,t) =0.

We can now solve for W (z,t) using Duhamel’s principle or eigenfunction expansions. Given W (z,t)
and V(x,t), we can find u(x,t). q

Chapter 5 — Fourier Transform Methods: Lectures 27-30

We consider the same PDEs as in previous chapter but on infinite domain, that is —co < z < oo.
Previously we found solutions of the form

u(x,t) =D Nu(t)Mn().

n=1

If we have p(x) = 1,p(z) = 1, ¢(x) = 0, we found the eigenfunctions were the Fourier basis. We can
use Euler’s formula to write the functions as

ek® = cos(kx) + isin(kz) = cis(kx).

In the bounded case, the eigenvalues are set by the eigenfunctions that “fit” in the domain. if the
domain is infinite, then all the trigonometric functions “fit” in the domain. We must integrate over
all values of k. We could try

u(z,t) = / N (t)e™*® dk.

This will be replaced by Fourier transforms.
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Definition 5.0.1: Let IF be an arbitrary field with char(IF) # 2. Fourier transform of a function
f:F — I is defined as follows.

Flf(@)] = F(\) \/ﬁ Wf (5.0.1)
The inverse Fourier transform is
FUFWN)] = f(z) = ors / e ATE(N) dA. (5.0.2)

Here F is a function on the transform space and f is a function on the physical space (if we take
F =R). We will always consider the field of real numbers R", generally when n = 1. N

Remark 5.0.2: When we substitute (5.0.1) into (5.0.2) we get

— i > e —iX(z—s)
=5 /Oo/ooe f(s)dsdA. N

End of Lecture 27
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Start of Lecture 28

5.0.1 Dirac Delta Function

Definition 5.0.3: Dirac delta function (generalized function) is defined as

1 [ _.
d(z —s) / e M@E=S) g\, q

def 27

Remark 5.0.4: Using this definition we obtain

f(:c):/oo d(x —s)f(s)ds. N

The Dirac delta “plucks out” the value of the integrand where the argument of delta function is
ZEro.

Remark 5.0.5: Using the definition of the Fourier transform, we can find the FT of the Dirac

delta function. We have

1 R 1 .
Flo(x —x0)] = — / e“\xé(x —xo)dz = %e“\x“.

—0o0

Using the IFT, we obtain

§(x —x) =F ! [216"”0} = 21/ e~ M@=T0) g\, Q
T T J oo

Motivation: Consider the following.

1) )7 T FTFTFTFTTT
M- QI
b s s 404442

7

P

P

P

FA

Figure 5.0.1: The dx(z) function. Note that the shaded region in purple has always area of 1.
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We will see that d(x) = ]\}im dn(z). The delta function has the property that
— 00

/Zé(:z:)da::

Consider the FT of dx(z). We have

Flon(z) ey (x) da

vl

1/2N

i)\z
N dz
\/27r / 1/2N

1/2N

_ N [}
o2 2 L Y2
_ 2N T neN | —injeN
CV2r2iA [6 ‘ }
1 sin(\/2N)

" Var (A2N)

The function in (5.0.3) is called the sinc function. Hence we get

(5.0.3)

) B L sin(A\/2N) 1
Jim, Fowta) = 7o) = i VIR0 o

Similarly by using IFT we get

b(a) = lim ox(a) = lim F~ [ 1 Sin()\/QN)]

\/ 2T )\/2N
_ 1 sin(A/2N)
= i e dA
Ngnoo \/27('/ 21 A/QN
1 o—iA
= AT AN
T on

Remark 5.0.6: Let F(f(x)) = F(A) and F(g(z)) = G(\). The Fourier transform has the following
properties.

(1) The inverse of F(A\)G()) is the normalized convolution of f and g.

FUFNGWN)] = \/ﬁ e"ATE(N)G(N) dA

- /_ ) /_ ()G dsda
_ % /_ Z £(s) { /_ Z =M= G(n) dA| ds
— = [t s)as

1
—— * Z).
0@
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(2) Parseval’s theorem:
| o= [ i@k

(3) Differentiation formula.
afl .
| =,

F| ] = v

dx”

The proofs for these properties can be obtain by using the linearity of the Fourier transform and
are not included in these notes. They are presented in the course notes posted on Learn. N

5.0.2 Applications of Fourier Transforms to ODEs

Consider the ODE below on the domain —co < x < oo,

Ly _ Ky = —f ().

dz?

We assume that as |z| approaches to infinity then y(z), and y/(z) approach to zero. We solve this
problem by first computing FT of ODE by using its linearity and differentiation properties and

solving for F[y].

2
d [j:cy] — K2 F[y] = Ff) <= (<iN*Fly) = K Fly) = —F[]
= (W +K)F) = FIf]
— Flyl =J—“[f]>\2J1er.

We then IFT to obtain y as follows. Note that we have

1 :F \/27[' e—k|x\ '
A2 + k? 2k

We want to solve for y where

Fly] = Flf] o5 zf[f]f[\/;]?e"“'z].
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This gives us

Fly] —f[f]f[zze"”'] = y@)=F" [f[f]f<\/22k7 "“'“)]
_ 1 L V2T ke
(_*) \/ﬁ<f o ek )(x)
= (7))
1 > —klx—s
=% _oof(s)e Flo=sl g5

Here in (x) we used the convolution property.

End of Lecture 28
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Start of Lecture 29

5.0.3 Diffusion Equation

We have the PDE for the diffusion equation as

ou 9%u -0 < x <0

T D@, on the domain >0,

with IC
u(z,0) = f(z), on the domain — oo < z < 0.

Since the domain is infinite, Fourier transforms are a good approach to solve this problem. We use
the following three steps to solve this problem.

(1) Compute the Fourier transform of the PDE and the IC. For the PDE, we define U(\,t) =
Flu(z,t)]. We have
ou 0%u
5] -7 P5)]

Since the Fourier transform is linear, by using the derivative property we obtain

0 2
5;U = D(=i\)*U = —DX°U.

For the IC we get
Flu(z,0)] = F[f(x)] < U(N,0)=F(\).

(2) Solve the ODE that we obtained by using Fourier transform. We have the ODE

9
—U = —D)?U.
ot

This has the solutions ,
U\ t) = Ae”PXT

We impose the IC and get ,
U\ t) = F(\)e DAt

(3) We take the inverse Fourier transform to get the solution in physical space. We have

u(z,t) = FHUN L)) = FLFe PN e M E(A)e DA dX

v/
1 © . oo
e—z)\x—DA2t/ ezAxf(S) dsd)

1 [ %0
=5 f(S)/ exp(—iX(z — s) — DA%*t) dAds.
T J_so oo

Denote the integral below as I.

I(x—s) = /OO exp(—iX(z —s) — D)\Qt) dA.

def J_ o
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By Euler’s formula we have
I(x —s)= / [cos(A(xz — s)) — isin(A(z — S))]e*m‘%d)\.

Since sin(A(x — s)) is odd, the it becomes zero in the integrand. Hence we get
o0
I(x—s) = 2/ cos[A(z — s)]e_D)‘Qt dA.
0

We can rewrite this as ~
I(a) = 2/ cos(/\oz)e_DAQt dA.
def 0
When we differentiate it with respect to o we obtain
df

=2 /0 Asin(Aa)e PV dx

= / 2xe PV sin(Aa) dA
0

d o *d
= —|—exp(—=DNt)sin(Aa)| — / — exp(—DA*t)acos(Aa) dA
dt 0 o dt

«
—1I.
2Dt

It can be shown I(0) = ,/7; . Hence we have

te = |/ oo 25).

We substitute this into our solution. We obtain
(z —s)?
— d
=5 | s e~ ) a
1 (
exp| —

- \/W/Z (x_8)2)f(s)ds'

l\)‘._l

4Dt

We define

Gz — 5,t) = \/471T)t exp (— (Z)iy).

hence we obtain
u(z,t) = / G(z —s,t)f(s)ds.

The function G(x — s,t) is called the fundamental solution to the diffusion equation or the
heat kernel.

Consider f(z) = d(z — x¢). Then our solution becomes

u(z,t) = /_OO G(x — s,t)0(s —xp) ds = u(x,t) = G(x — x0,t).
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5.0.4 Wave Equation

We have the PDE as

2 2 —00o <z <
gtg — nggg =0, on the domain oot - E’ >
with ICs
u(z,0) = f(x),
u on the domain — oo < z < 0.
E(:&O) = g(:p),

Since the domain is infinite, Fourier transforms are a good approach to solve this problem. We use

the following three steps to solve this problem as before.

(1) Compute the Fourier transform of the PDE and the IC. For the PDE, we define U(\,t) =

Flu(zx,t)]. We have

For the IC we get
U0 =F = FIf]
ou

S0 =G = Flg)

(2) Solve the ODE that we obtained by using Fourier transform. We have the ODE

The solution to complex U is
U\ t) = a(M)elM + B(N)e ™M,
We impose the ICs and get

U(z,0)=a+ [ =F,

aa—[t]()\, 0) =icha —icAB =G.

To solve this, we write the above as a system of linear equations. We have

v <l )= e] = ] = -z 5

This gives us

—_F

=3P+ 5a¢
1 1
)

2 2 2icA

Hence, our solution for U (A, t) becomes

1 1
= |F4 - S
U1 [2 * 2ic\ 2 2ic\

Al

G:| eic)\t + |:1F 1 G:| 6—ic>\t.
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(3) We take the inverse Fourier transform to get the solution in physical space. We have

u(x,w:f1[U<A,t>1:f1[(;m ! G) mt]ﬂr [(Hw_ ! G)A]

2icA 2icA
1 1 e
= SNl N exp(—iA(z — ct))F(X) F/ exp(—iA(z + ct))F(X) dA
1 1 o0 , G(N) 1 1 o0 , G(N)
— —iXz —ct d\— —— —iA t dA
+20 o 7ooexp( iX(z — ct)) B 2% o 7ooexp( iX(x + ct)) B
*)
1 1
= §f(x—ct) + if(x—i-ct) + ().
Define the function g(z) as
71)\:1:
x G(
9(x) \/ﬁ (A) dA
This gives us
f‘ 1 GO
ds = — 0 A
/0 g(s)ds o /_Ooe B
Our solution becomes
1 1 r—ct 1 T+ct
u(a,t) = 5[ —ct) + fla +ct)] - 26/0 o(o)ds+ 5o [ g(s)ds.

Hence we obtain

z+ct
u(ac,t):;[f(x—ct)+f(a?+ct)]+21/ g(s)ds.

c —ct

which is the (d’Alembert’s Solution).

End of Lecture 29
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Start of Lecture 30

Chapter 3 — Method of Characteristics: Lectures 31-x

3.1 Linear First-order PDEs

Remark 3.1.1: Recall that we have the wave equation as

8, 0

9 I9N(2_ 9\ _,
ot "oz )\ot oz )~

We can factor the operator as

If we define v such that

we get

This is a system of first order couples PDEs. N

We will discus methods of solving first order PDEs.

3.1.1 Basis for Method of Characteristics

Remark 3.1.2: We have the general first order linear PDE as

ov ov
a(:):,t)% + b(:v,t)a = c(z, t)v(z,t) + d(z, 1),
with an “initial curve” T" on example initial condition v(z,0) = f(x). Q

If we have a solution, say v(z,t), this tells us the solution at any (x,t). Since these equations are like
the wave equation, it will be useful to discuss how information propagates along curves. Suppose
we have a curve parameterized with s. So we have I' = (z(s), t(s)).
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I'is
t=0.

Figure 3.1.1: An example of initial curve I' (in red).

We check how the solution changes along parameterized curve. The solution on curve is v(z(s), t(s)).

By chain rule we have
dv Jdvdx Ovdt

& ords T otds

We pick
ds 7
W, (3.1.1)
ds 7
d
OTZ = cv+d. (3.1.2)

The equations in (3.1.1) define the characteristic curves. The equation in (3.1.2) shows how the
solution changes along these curves.

3.1.2 Using the Method of Characteristics

Theorem 3.1.3: Given a PDE of the form

ov v
a(w,t)% + b(m,t)a = c(x, t)v(z,t) + d(z, 1),

if the functions a(z,t),b(x,t),c(x,t), and d(x,t) are smooth, and if the “initial curve” I' can be
parameterized as

I'={(x,t) | 2 =2a(7),t=4(r)}, with v=740(7)onT,
then a solution v(x,t) exists and it is unique.
Proof: What is a proof? This is an AMATH course. :| O
Remark 3.1.4: We use the following four steps to use the method of characteristics.
(1) Parameterize “initial curve” I' with

r=2(r), t=1(r), and v=10(r).
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(2) Solve for the characteristic curves using ICs.

d$—a(x t)
9. At Z|s=0 = T(7),
70y i
—_=b t s=0 = U\T).
ds (,8),

Note that the initial condition occurs at s = 0. This yields x(s,7),t(s, 7). Also note that 7
is the parameter that parameterizes the initial curve I' with bounds —oo < 7 < oo unless the
domain is explicitly defined.

(3) Substitute the above to solve for v.

@
ds

This yields solutions in terms of the parameters s and 7. We get

=c(x,t)v +d(z,t), with v|s=g=0(7).

v(s,7), and x=uxz(s,7), and t=t(s,71).

(4) Invert the characteristic equations to find s(z,t) and 7(x,t) in terms of 2 and ¢. Then substi-
tute these into v = v(s, ) and obtain

v(z,t) = v(s(z,t), 7(x,t)).

We will use these steps to solve questions with the method of characteristics. N
Example 3.1.5: Consider the PDE

8v+ (%_O the d . —00 < x < 00,
5 T Cg, = 0 on the domain 50

with IC
v(z,0) = f(z).

Recall that this is the advection equation introduced in (Linear Advection (Transport) Equation).

Solution: We use the four steps we introduced in Remark 3.1.4.
(1) Find the parameterization of initial curve I,
z=71, t=0, and v= f(7).
This is at s = 0.

(2) Solve for the characteristic curves. We need to use given initial condition.

dx

a =, x|S:U =T,
dt

— =1 tls—o = 0.
ds ) ’8—0

We solve the equations above and obtain

r=cS+T,
t=s.
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(3) Solve for v.

d
5 =0 v =70

= v = f(7).

(4) Getting the solution in terms of x, .

s=t, and T=z—ct = v=f(z—ct).

Refer Fig. 3.4. on page 51 in official course notes for the behavior of the characteristics of linear

advection equation with ¢ = 1.

N

End of Lecture 30
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Start of Lecture 31

3.1.2.1 Moving Boundary Problem Example

Consider the PDE of the form

ov n 281}
it — =y,
ot ox
with the given initial curve
1
v(z,t) = T2 o r+t=0.
We have
t
x
Figure 3.1.2: We have the initial curve as x = —t in red.
We use the four steps we introduced in Remark 3.1.4.
(1) Parameterize the initial curve.
1
rT=71, t=-T, v=
1+ 72

(2) Find characteristic curves.

dx
— =2, Zl|smo=T = z=28+T,
ds
dt
— =1, tsgmo=7T = t=s5—T.
ds

(3) Solution on curves (solving for the v).

dv | 1
— =V, Uls=0 =
ds R A
This gives us
1
v=f(r)e® = v= 1+7_26_5
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(4) Invert the transformation to find the solution in terms of z and ¢, i.e. find v(x,1).
We combine the equations we found in (2). We get

T+t q T — 27
s = and 7= .
37 3
We substitute these in v(s,7) and obtain
v(z,t) = 23 )2
1+ (%5%)

Note that if 7 is a constant, then we have 37 = x — 2¢. So we have

Figure 3.1.3: We obtain the solution above the initial curve (in green).

3.1.2.2 Boundary Problem Example

Consider the PDE

0 0 x> 0,
877; + ca—z =0, on the domain £ <0,
with the ICs
u(z,0) =0 x>0,

on
u(0,t) = te™", t>0.
We have the following sketch of the problem.

t u(0,t) = te™

u(z,0) =0

X

Figure 3.1.4: The problem with initial curves.
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We expect the solution to look like

Figure 3.1.5: Expected solution (in pink).

We use the four steps we introduced in Remark 3.1.4.
(1) Parameterize the initial curve.

r=0, t=7, u=r71e ", where 7>0.

(2) Find characteristic curves.

dz

— =¢ Xls=o=T = = =cs,
ds

dt

— =1, ts=0=0 = t=s+T.
ds

(3) Solution on curves (solving for the v).

du _
=0, uls—o=r71e "

5=

T

— u=7T€ .

(4) Invert the transformation to find the solution in terms of 2 and ¢, i.e. find v(x, ).
We combine the equations we found in (2). We get
x x
s=—, and T=t—s=t— —.

(& C

We substitute these in v(s,7) and obtain

u(zx,t) = <z - %) exp<7t - %)

Note that this is the upper triangle region in Figure 3.1.5.

3.1.2.3 Wave Equation (factored)

Consider the PDE

@—I—c@—o
ot or
ou_ o0,
ot or
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with the ICs

v(z,0) = f(x),
ov
2 (2,0) = 9(a).

We first solve for u(z,t). We have he PDE

ou ou
o + Con = 0,
and IC
u(z,0) = @(x,O) - c@(x,O) =g(z) — cf'(x).

ot ox

We apply our previous solution and get

u(x,t) = g(z — ct) — cf'(z — ct).

We now solve for v(z,t). We have the PDE

v ov

- e = . — / .
5% oa g(x —ct) — cf'(x — ct),

with the IC
v(@,0) = f(z).

We use the four steps we introduced in Remark 3.1.4.

(1) Parameterize the initial curve.

(2) Find characteristic curves.

dx

FPai2 Tl|s=0 =T = == —cs+T,
dt

Ezl, t|S:0:O — t =s.

(3) Solution on curves (solving for the v).

dv
FP gl —ct) —cf'(x —ct), v|s=0 = f(7).
S
From above we have t = s and * = —cs + 7. This gives us
dv /
P g(—2cs+ 1) —cf'(—=2cs+ 1), v|s=0 = f(7).

We integrate w.r.t s from 0 to s. We get

/ dv ds = / g(17 —2¢s) — cf' (1 — 2¢s) ds.
o ds 0
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We substitute g = 7 — 2¢s which gives us dg = —2¢sds. We obtain

T—2cs T—2cs T—2cs
W) =00 =5 [ 9B e B4 = ) =) -5 [ @asey [ e (B)as

2c /-
T—2cs T—2cs
— ) =10 =5 [ aB)dB+ )
T—2cs
— o) = 1)+ 5 2e8) = 350 - [ ()45,

(@) Invert the transformation to find the solution in terms of 2 and ¢, i.e. find v(x, ).
We combine the equations we found in (2). We get

s=t, T=ux+ct.

This gives us

1 l 1
t — t —ct) — —
1 1 x+ct

which is the d’Alembert’s solution

End of Lecture 31
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Start of Lecture 32

3.1.2.4 Interpretation of the Solution

We consider two cases.

(1) Initial velocity is zero. We have

%(%0) =g(x) =0 = v(z,t) = %[f(a:—i—ct) + f(z — ct)].

This tells us the following.

(z,1)

(x — ct) (x +ct)
Figure 3.1.6: A plot of the two characteristic curves that transport information from the initial

curve to any position (z,t).

(2) Initial displacement is zero. We have

v(z,0) = f(z) =0 = v(x,t) = %

which is the average of g(f). This tells us the following.

t

(x — ct) (x + ct)

Figure 3.1.7

This behavior is different from the diffusion equation, in that case if the initial condition is
f(z) = d(z — z¢) the solution is v = (x,t) = G(x — o, t) which is non-zero everywhere.
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3.1.3 Existence and Uniqueness

Existence: For a solution to exist at (z,t) we need a characteristic curve that meets this point
only once. Furthermore, we need that the “initial curve” crosses each characteristic curve once. For
the initial curve to not be a characteristic curve, we need the Jacobian of the transformation from

(s,7) to (z,t) to be non-singular.

or du| |, or

‘3(56,15) _|0s oOr|_ or £0

(s, T) ot ot ot ’
9s orl | or

on the initial curve.

Existence: As an example, consider the inhomogeneous wave equation

2 2 —00 < & < 00,
gt;} - 0222 = f(=z,t), on the domain oot - g >
x .
with the ICs 9
v(,0) = f(z), 5, (@,0) = g(2).

The initial curve is ¢t = 0 (this is the z-axis). The characteristic curves are 7 = x £ ct.

Let v1 and vy be two solutions for the problem. We want to show the solution is unique. Suppose

v = v; — v2. We claim that v solves the homogeneous system

2 2

gt;’ - 02; —0, PDE
’U(LL‘,O) = O>

ox ICs

To show this is true, we find the equation for the energy. We multiply the PDE by . We get
P 000 0:>a w\*\ _ 20 @@+20%@_0
ot ot? ot dz? ot ot Ox \ 0t Ox 0x0t Ox
:>a w\*\ _ 20 @@+20 o\ _,
ot ot Oz \ Ot Ox ot ox -
To find a global expression we integrate f_oooo dx. We get
/006181;2 v d_/oo D (dvov\ [ 200 0]l
L ot|2\ ot 9z ) | T ) Cax\otar ) 0z | ..
1d ov ov
= 2d/ (m) <8x) dr=0.
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Since the integral is zero at t = 0, then for all time we have

o0 80) S ((% > 2
— ) +c¢*| =— ) dx=0.
/_Oo ( ot ox
This is only possible if % =0= %. So we must have

v(x,t) = 0.

Hence we get v; = vo which means the solution is unique.

End of Lecture 32
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Start of Lecture 33

3.2 Quasi-linear PDEs
Consider the PDE of the form
Ov v
a(z,t, U)% + b(x,t,v)a = ¢(x,t,v).

Method: We require the following.

(1) The functions a, b,c € C*(R). i.e. they are smooth functions.
(2) Initial curve is given by I' with

r=2(r), t=1t(r), v=720(r).

(3) The determinant of the Jacobian is initially non-zero. We have

Ox Oz
o) _|or as| 0%, ... O .
det(A(7)) = '8(577') =lo: o = a7_()(:U,t,v) Ea(x,t,v) # 0.
(%) ot 0sls=0

Here (x) is evaluated on the initial curve (at s = 0). If these conditions are satisfied, then there

exists a unique solution for some time interval and the solution is determined by the following
characteristic equations.

dx

P a(z,t,v), x|s=0 = &(7),
% = b(x,t,v), t|s=0 = f(T),
d

dis] = c(x,t,v), V|s=0 = (7).

From the solutions to this system, we can invert

x=uxz(1,8), t=t(r,s)
to find
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3.2.0.1 Inviscid Burger’s Equation

Recall that we have the inviscid Burger’s equation as

8U+ ov 0 the d . o<z < oo,
— — = n main
T v 5 , O e doma o0,
with the inital conditions
v(r,0) = f(x).
Consider the initial curve
t
u(z,0) = f(x)

Figure 3.2.1: Initial curve.

(1) We parametrize the initial curve.

(2) We define the characteristic curves.

d—aj = x| =T

dS — U s=0 — 1,
dt

1t =0,
ds 3 ’ 0

d

T=0 vleo= ().

We first need to solve for ¢ and v to obtain the solution for z. We have
t=s, and v= f(7).

This gives us

S = f), wleo=T = f()str
Our solution is
v=f(r)
= flz —tf(7))
= f(z —vt).
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A characteristic has a particular value of 7. Therefore, the solution v = f(7) is constant along each
characteristic. The characteristic curves are given by

T=x— f(7)t.

We want to know the slope in (z,t) space. To find this, we can find the derivative w.r.t time. We

have
dx

dx
0= 1) = fn) ="

End of Lecture 33
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Start of Lecture 34

We continue our discussion on inviscid Burger’s equation. Last time we had

ov v

e + v% =0,
with the IC

v(z,0) = f(x).

The solution can be formally written as

v(z,t) = f(z — vt)

Note that f(z — vt) is a solution but it is implicit. In order to get the solution we need to define
some characteristic variables. In terms of characteristic variables, the solution is

v=f(1),
where the characteristics are defined as
T=x—tf(7).
Note that this gives us
g 1
dz — f(r)’

Consider the example below.

If o < x1 and f(zg) > f(z1), we expect the
solution to steepen and become multivalued. This
is called a shock.

VAl

Figure 3.2.2: Shock in red.

This gives us

ty F------ the location and
time of a shock

|
I
|
|
|
|
|
|
1
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3.2.1 Shock Formation

A shock is where the solution is multivalued and the profile is vertical. This can be found mathe-

matically by determining when and where % — 00. Our solutions are
v=f(r), and z=tf(r)+T.

First, we have

v ,, 0T
o9z f (7')876
We now differentiate w.r.t . We have
or Or or
9T 9T ’ oT
which is equivalent to
or 1

or  tf'(r)+1

We combine these two equations and obtain

v _ f(7)

or  tf'(r)+1

We want to know when this becomes infinite. Note if f/(7) > 0, then the denominator is never zero.
Hence a shock will not occur. So we need f’'(7) < 0 for some 7. By continuity, know that f’(7) for

some range of 7.

Observe that % — o0 ast— —f,%. To find the initial shock time, we find the minimum of this

function. If we denote the first shock time as t5, then we have

. 1
= n (7(7)) =0
If the minimum occurs at Tin, then the location of the shock is

Ts = tsf('rmin) + Tmin-

Example 3.2.1: Suppose

1
v(z,0) = f(x) = T2
Note that this is maximum when x = 0. The solution is
ith t + 775
U=-——7 Wi rT=——+7=
1472’ () 1+ 72
We want to know when and where the shock first occurs. We have
2T
/ —_ ——
f (T) - (1 +72)2‘

We also have

—1 1 2\2
ts = min( — > = min<(z7—)>.
T m T z

+ 7.
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Lecture 34
To find the minimum, we find the extrema. We have
d A+ 204722 (147 200477277 (1477 (14+1)ErP-(1-1%)
dr 27 N 27 2r2 272 272 272
(1+72)(=1+372)

B 272
Since T parametrizes the curve, then 7 € R (i.e. 7 is not imaginary). Then we must have 7, =

+1/+/3". This gives us
2
_Gerp () B s
2 2 :
2 7w Fm

Since time cannot be negative, we take the shock time as
83

ts 9

Note that for this case mnin = +1/ﬁ. To find the shock location, we find z;. We have
8v3 1 I AVERVE)
xs:tsf('rmin)"i"rmin:i 1+7:7+7:\/§‘-
9 1+3 V3 3 3

Hence, we find that the shock occurs at

End of Lecture 34
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Start of Lecture 35

3.2.1.1 Expansion Fans

Consider solutions to the Burger’s equation with the following initial condition

B ifx<0
v(x,0) = ?:n_ ', with A>B.
A ifz>0.

Graphically we have

v(z,0)

X

Figure 3.2.3: Graphical representation of piecewise continuous solution.

We have
ov ov _0

— f+v— =
ot ox
The solution to the Burger’s equation in general is

v=f(1), T=x—tf(7).

For 7 > 0, f(7) = A gives us v = A. When we substitute this into the characteristic equation we
get
T=x—tA>0.

Hence, we need to have x > tA. Hence, we see that all of the characteristics are parallel.

For 7 < 0, we have f(7) = B which gives us v = B. When we substitute this into the characteristic
equation we get
T=x—1tB <0.

Hence we need to have x < tB. By this, we obtain the solution in two different pieces. We have

(2,1) B if z <tB,
vz, t) =
A ifx>tA.

This looks like
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r=1tB z=tA

-
-
1T
o

Figure 3.2.4: Piecewise continuous solution v(z,0).

X

We want to know how the solution looks like in the purple region. In some later time we expect to
have

v(z,t) t>0

Figure 3.2.5: Solution at a later time.

We want to know how to solution behaves when tB < z < tA. The solution in this region is what
we call an expansion fan and it is of the form
Tr — X

o(x,t) = ——

Note that this function solves the inviscid Burger’s equation. We have

dp 1

Or  t—ty
99 _ —(z — xp)
ot (t —t9)?

We substitute these into LHS and obtain

8(;5_ (x — ) (9371:)_
7+¢%__(t—to())2+(t—to[))2 -0

This is true for all zg and 3. Hence we must pick these constants to match our solution. We do
this by requiring continuity of the solution everywhere. On the right we have

G(tA,t) = A, and ¢(tB,t) = B.

These equations require
tA—=x tB—x
0 — A, and 0 =
t—to t—to

B.
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This gives us

tA — o = tA—t()A,

, or xg=tgA =1tyB.
tB — z0=tB — t,B, 0= 0

This requires zg = 0 = tg, which gives us

B if x <tB,
v(z,t) =< z/t iftB <x <tA,
A if z > tA.

Note that this is consistent with our initial guess at Figure 3.2.5.

Example 3.2.2: Solve the following PDE

0 0
a—;} + va—: = %, with (z,0) = g(z).
Solution: We use the four steps we discussed in Remark 3.1.4.
(1) Parameterize the IC.
x=7, and t=0, and v=g(7).

(2) Find the characteristic equations.

dt
o — =1 tls=0 =0,
®: =0
®: F=v  deo=r
. dS_ s=0 — 7,
d
©: T =" theo=90).

From (2), we get t = s. From (¢), we used the fact that the ODE is separable and obtain
dv 9 dv
=

1
=" 2= ds:>;:5+oz(7').

At s =0, we have ﬁ = «(7). Hence we obtain

}:s—{— I g(7)5+1'

v 9(7) 9(7)
Which gives us

b 91
g(r)s+1°

For (b) we have

dz  g(r) 1

ds  g(r)s+1 s+ﬁ'

Winter 2019 AMATH 353 109



Lecture 35 Chapter 8. Method of Characteristics 03 April 2019

This is separable. We have

dx = dsl :>/dx:/ dsl
S+ﬁ S+m
1
:>$:1ns+‘+ﬂT-
gn| T

So, at s = 0 we have
T=In|g(7)|+ B(r) = B(r) =7 +1nlg(7)].

We obtain

T =1In

1
s—i—‘ +74+In|g(7)|=In|sg(r) + 1| + 7.

9(7)
In general, we cannot invert this equation to find a solution but if we had a particular g(7), we

could plug it in and maybe solve it. To determine if a shock occurs, we begin with % and find if it
goes to infinity. 4

End of Lecture 35
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Start of Lecture 36

Final Exam Information

The final exam is on April 23, 2019 between 09:00-11:30 a.m in STC 0010. It includes material from
the entire course, with more emphasis on material after the midterm. There will be 5-6 questions.
A sample final with the formula sheet will be posted on Learn next week.

Course Summary

We give a brief summary of the course. Here the chapter numbering follows the numbering
in textbook and the order follows the order they are covered in lectures.

Chapter 1: Modeling with PDEs

We saw that conservation law (in 1-D and 3-D) with constitutive relation gave rise to certain types
of PDEs, such as the diffusion equation. Also, from Newton’s 2nd Law we obtained other types of
PDEs, such as the wave equation.

Chapter 2: Classification of PDEs

We saw that we can classify PDEs in three classes. We have the general form of a PDE as

0?U 0*U 0*U oU oU
2B D—+F—+FU =0(G.
Ox? + 0xdy +C(9y2 + Ox + oy HEU=G

We classified the PDEs depending on the value of B2 — AC. We had

A > 0 hyperbolic
B? — AC = { A = 0 parabolic
A < 0 elliptic

Chapter 4: IBVPs

We considered some PDEs with BCs and ICs on bounded domains. For example, for the parabolic
PDE we had 5 5 5

pa—? + L[u] = pF, where L[u]= 5 <p(31;> + qu.
If F = 0, we call our PDE as homogeneous, otherwise as inhomogeneous. To solve the PDE in
these cases, we used the following procedures. We will use the steps introduced in Remark 4.4.7
and subsubsection 4.4.3.7 to solve for the homogeneous problem.
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For the homogeneous case we used the five step
procedure below.

(1) Separate the variables for the PDE and the
BCs. Assume the solution is of the form

u(z,t) = M(z)N(t).

(2) Solve for the BVP for M(z) for spatial
variable by using the eigenvalue relations
L[M] = ApM and obtain the (solutions)
eigenpairs (A, My (x)) forn=1,2,....

(3) Solve for the temporal variable N (t).

(4) Obtain the general solution by using the
principle of superposition.

u(x,t) = Np(t)My(t).
n=1

(5) Impose the ICs. For example for the
parabolic case we have

u(x, 0) = ZNn(O)Mn(x) = f(ZL’)
n=1

For the inhomogeneous case we used the proce-
dure below.

(1) We assume the solution is of the form

u(@,0) =Y Nu(t)Mn(2) = f(x)
n=1
— F(x,t) =Y Fu(t)My().
n=1

i.e. We started from step (4) above.
(2) Substitute this into the PDE and project
onto M.

ou

ot’
by wusing self-adjointness property and
eigenvalue relations. We get

Mk) = <;$[“]»Mk> = (F, My),

d
— N, AN = Fp..
a kT ApNVE k

By projecting the ICs we get

Ni(0) = (f, My,).

M,
= N,,(0) = 7](\? ]\2) :
(Mn, My) (3) Solve for the temporal part Ny (t).
Remark: Sturm-Liouville operator is self-adjoint, positive and eigenfunctions corresponding to
different eigenvalues are orthogonal. <
Chapter 5: PDEs on Infinite Domains
We considered PDEs on infinite domains with constant coefficients. For example a PDE where
2
?;Z - g;; = f(z), with the IC wu(z,0)= g(x).
We used the following steps introduced in subsection 5.0.3 and subsection 5.0.4.
(1) Compute the FT of PDE and IC. Define U(\,t) = Flu(z,t)] and F(A\) = F[f(x)] and G(\) =
Flg(z)]. o
=+ M DU = F()\), and U()0) = G(\).
(2) Solve for U(,t) using convolution and other properties.
(3) Take the IFT and obtain u(z,t) = F~U(A,t)].
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Chapter 3: Method of Characteristics

We considered the PDE

a(x,t, v)g: + b(x,t,v)gz = c(z,t,v),

with the an initial curve

v(z,0) = f(x).
We used the following steps introduced in Remark 3.1.4.
(1) Parametrize the initial curve (at s = 0).

(2) Find the characteristic curves.

dz

e b, zls=0 = 2(7), If linear,
If quasi-linear, dt . solve these first.
solve these together. ds @ te=o = £(r),

dv N

&ZC? U‘SZOZU(T).

(3) Solve for x,t,v in terms of s and 7 by substituting the above.

(4) Invert the characteristic equations and find s, 7 in terms of = and ¢. Then find

v=_(s,7) =v(x,t) =v(s(x,t), 7(x,1)).

This concludes the final lecture for AMATH 353 in Winter 2019.

End of Lecture 36
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system, 1
personality of the equation, 6
positive operator, 30

S
Schrédinger equation, 66
time dependent, 67
time independent dependent, 67
self-adjoint operator, 28
shock, 104
sinc function, 82
spectrum of an operator, 42

square integrable functions, 36
complete, 38

Sturm-Lioville problem, 36
regular, 36

T

two-norm, 36

\)\%

wave equation, 12, 15, 17, 18, 23, 50
2D, 16

weight (of a function), 28

well-posed problem, 20
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